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1The rational arithmetic results in a comfortable feeling of security that is often lacking when floating-point calculations have
been made, and it means that the accuracy of the calculation cannot be improved upon.
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3 00000000 dvsrch.cpp
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OO0Odvsrch.cpp 0000000000000 O0O0OOODDODOODODODODOOOOOOOOMO
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0 p(A\) D0000Onsize 10000000040

e 00 d=23,.. 0000000 200000000000000000000 40000000 nsize
O00000O000D0O0O000D0O0000D0DO0O0Owhile(d<= nsize) OOOO0OO0OOOODO
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s selectev O O N

void selectev(const vector<double>& a, int n, int& ngrp, vector<double>& eigvl,
vector<double>& eigvh, vector<int>& mult) {
int i,ii,j=0;
double x,am;
am=fabs ((a[n-1]-a[0])/((double)n)); /* abs(mean) */
std::cout << "selectev Amean=" << am << std::endl;
eigvl[j+1]=a[0]; eigvh[j+1]=0; x=al[0]/am; ii=0; mult[j+1]=0;
for(i=1; i < n; i++){
if (fabs(al[il/am-x) > eps){ j++; x = alil/am; eigvl[j+1]l=alil; ii=i; mult[j+1]=0; }
if(ii != i){ eigvh[j+1l=alil; mult[j+1]1++; }
}
ngrp = j;
- J
U0000o0o0ob0ob0oo0oooob0ob0ObbepsdbboooooobDO4b0b0O 200 16000
O0o0oOoo9gsiouo 300 2000000 Boooooooooooooooooooooooo
ooood
2000000000000020000000000 200000000000 whileOOOOOOooOoQooO
go0oooooo 300 if o000 bofbdtd necandi OOOO
Ofddoooobooobooooooooooooooooooooooooooooooooooooooon
0000000000000 0000000000000000000000000O000ooooooo*®on
OO0000000 reset 0000000000 break OO O

3.2 DUOOoOoodbooboooobobobuooobon

gobooooobooobooboobooboboooboboobooboboooooobooobooobooDbn
gbobooboobooooboboobooboobooooboboooboobooon

3.2.1 DOUO00OOO0ODOO

000000000000 0000D00DO00D000D000000elementary symmetric functionD 0000 OO
0 Vieta’s formulaD D000 n=50000 poz® +prat +pea® +psz? +pux+ps 00D DDODOO0O00 oy O
0o 000000000000 0O00O0O0O0O0O 10 10000000000 pp=10000000000
ooooDoo

po=—1
pP1 = Q1 + Qg+ Qa3+ ag + Qs
p2 = —(anae + a1as + aray + ajas + asas + asay + asas + asay + asas + agas)

P3 = 123 + pa0y + 1oy + 13y + 3 + s + a3y + Qa3 + Qo + A3y s

ps = —(1aoazay + a1opasos + 0 asouos + apasouas + asogasos)
—_——— —m — e N N
lack as lack aug lack as lack as lack

D5 = (rpiaxz iy iy

gbobooboobooooboooobooboooon

Y000 5000000000 (2,3) 0000000000000 3000000000 100000000000000000000
oooooooooo (23) 00000000000
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gbogboboobgoobooobobooboboobooboboobobb o 0boboobon

n
0000000000 py=ps=]]ex 0000p; O ps 000000 complement0 00000000000
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prO0 k=12 ,n000 Y 0000000100 0;0000p, 0400 000000000001
k=1
00100 n000 o« 0000 oy 00000p, 00000 200 e 00p, 00200 100 nO00 a

oot . OO0DOO0OO0--- 00000000 nOOOO

po U0 ps 0000000000 O0O0O0ps 0000000 0OOOOOOODOOODOO poO00000O0O0ODOO
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DDDDDDpy:E:%mQDDDDm::z:aﬂ%wwDDDDDDDDDDDDDDDDDDDDDDD
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000000000
nCr

Z Qi1 QG2 -~ - Qe (30)

1,32, ir

3.22 0O0000DOOOODOOO BASICOOOOOO

000000000100 1000000000000000000C++ 0 00 BASICOOOSO0BASICO
veo0iooooooooooooebbobboooobboobboooboboooobDboooooDooogroo
00000 ASClID0oO0O00oO0o0ooo0oo ¢co C++ 0000000000000 OO00BOO0O0
OOFortran O BASICOOOOOOOOOO BASICOOOOOOOOOOOOOOOOOOOOOOOOO
obobooboooooboboooooobooboobooboooooboobbooboobbooboobooooooonoo
goooooboooooboooog

CO Fortran 0000000000000 00O0O0O0O0O0O0O0O0BASICOOOOOOOOOOOOOOO
OO00000oooboo0oooboCchO C++ 00 for 00000 int i=1; 00000000DOOCODOOOO
OOo00OO0OBASICOOODOOOOOOOODOOOOOOOFOROODOOOODODOOOODODIDOODIOOO
0000000000000 0O000DOD0O000000OBASICO STEP 1 000000000 1000000
gooooocCco C++000oooooooooooooooooooooDoeoOOOOOOOOOODODO
oobooobOo0oooooobooobooobooobooobooooboobooboobOoooobooooOooooon
OO0 BASICOOODOOOOOOOOO 10O0DODODODODOOODOOOOODOOOODODOOO

gooooa
int n=100; n=100
for(int i=1; i <= n; i++){ FOR i=1 TO n STEP 1
Yy
NEXI i

COC++ 0000 i0 n00000 int 0000 32000000000002,147,483,647=2G—-100
0000000000000 00000000000000000 1long longODOOOOOOODOO BASIC
00 p/qUI 0000000000000 0ODO0OOOOOOOOl00000000000000

000000000000000000400000000000000000000000O00O00O00%050
gbooobO 200000000000 n=500020000000005000000 300000000
obo030000b00boooooobooooon

0000000000000 000O00 M normalized loopd 0000
51Combination.BAS 00O DOOFOR i2=i1+1 T0 n 0 FOR i2=i1 TO n 000000000000 sH, 000D0O0D0O0O0D0OODO
100000000000 »n200000000000 IF i2<>il then 0000000000 5P, 0000
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Combination.BAS

LET n=5 LET n=5
FOR il=1 TO n FOR i1=1 TO n
FOR i2=i1+1 TO n FOR i2=i1+1 TO n
PRINT i1;i2 FOR i3=i2+1 TO n
NEXT i2 PRINT i1;i2;i3
NEXT i1l NEXT i3
NEXT i2
\ NEXT i1 )
gooobboboooooobbooo
i1 11 2 2 2 3
i212 3 4 5 3 4 5 4

i1,i20 2000000000000

gbooobooooboobooooboooooobo

il
i2
i3

W N =
N R
(20 NI
N
ot W =

1
4
S

=W N

2
4
5

Tt s W

uboboooooooboooobob nOOO0OOOr=100 r=nbO0000000000D0ODODOO
ooooooooo0ooooobooooboo0oooDOoo00ooooOObO000oDDObOOo0OO0O0ODnOcode
een0100000%0000000000000000000000DOO0O0DOOO0OOOOOOOOOOOO0
000000 Combination.BASO r 000D O0O000000O0D 1000000000000%0000000
gbooooooobob i1,i20 4i1,i2,i3000000000000000000 nxtemb (OOOOO0OO
O000D00000n=50 r=20001ith(D=10ith()=1 00000000000 ith 00 120000

gb13000g---d

CombSet.BAS O nxtemb 000000

4 N
EXTERNAL SUB nxtcmb (n,r,ith())
IF ith(r) = n THEN ' 0000 nOO0OO
FOR i=r-1 TO 1 STEP -1 ' 000 i 00000
IF ith(i) <= n-(r-i)-1 THEN ' 0 1000000000
LET ith(i)=ith(i)+1 ' 0 100000000000
FOR j=i+1 TO r ' JO0ooooog
LET ith(j)=ith(i)+j-i ' 0 i 0000o0oooooo
NEXT j
EXIT FOR
END IF
NEXT i
ELSE ' 00000 n O0O0OOOO
LET ith(r)=ith(r)+1 ' 000000000000o0oo
END IF
END SUB
. J

OO0 BASICOOOOOOOOOOOO compO0OO00O0COOO0OO0O00O0O0OOO0 O r000CCOOO

obooooobooooobooooon

Oo00000 CombSet.BASOOnOOOOGOGO,C40,C0,C50,C,0

2Cs 000000000000 DODO000DOO0O0O0DOO0O0 setlnd0000D0O0O0OODOOOOODOOOO

S20000000000000000000000000000000000000000000000000000000000000

goooooobooboobobooobooooooo
5300 0000000loop transformation techniqueld 0 HPC OO DO OO ODO00O0000O0OO0OO0OO0OO0000000OOO
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s CombSet.BAS O Setlnd DO OO OO ~N

EXTERNAL SUB SetInd (n,r)

DIM ith(r)
FOR i=1 TO r ' gO0o0ooo
LET ith(i)=i ' Jooogao
NEXT i ' gooooo
LET ith(r)=ith(r)-1 ' 0o0oooo
PRINT "comb(n,r)=";comb(n,r)
FOR i=1 TO comb(n,r) ' nC_r 000
CALL nxtcmb(n,r,ith) ' J00000 ith[1] OO [x]1 OOO
FOR j=1 TO r
PRINT ith(j);
NEXT j
PRINT
NEXT i
\¥ END SUB 4)

CombSet. BASOOOD 100 n 0000000000 1000000000000

3.23 0O0O0OO00ODOOOOODOOOODOOOOC++O

OO0 BASICO comb OOO0O0OOCOCOOOOO 6400000010ng longOOOOOOOOOCOOOOO
00ooo 2% -100-,>610000000000000000000

nn—1)---(n—r+1)
r(r—1)---2

WCr = (31)

ocoooooodr-o20000000000000000r0 300000000003 0000DO0O0O0OO
000000100000 100000000000000000000005%0
s ratutil.cpp 0 comb O O O long long 0 O ™

long long comb(const int n, const int r){
long long t=(long long)n;
for(int i=1; i<r-1;i++){
t=t*((long long) (n-i));
t=t/((long long) (i+1));
}

return t;
N J
000064 000000000000000000D0 (31)0000000 lengit 0000000000000

00000000000 100000000000000 longint DOOO0D0ODOOO0DOOODDOOO longint
Ub0o000000 1divide DOOO0OO0OOO

int i;

longint t("1"), s("1"),x,y; // how to set a number into longint variable
luint32_t ni;

long long result;

for(i=0; i<r;i++){

ni=n-i;
x=ni; // cast int to longint
t=t*x;
}
for(i=1; i<=r;i++){
ni=i;

0p00D00000000000000000000000000000000000000C
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if(ni !'= 0){ x=ni; s=s*x; }
¥
x=longint::1ldivide(t,s,&y);
result=x;
return result;

nxtemb 000000
ratutil.cpp 0 nxtcmb O O
4 P A

void nxtcmb(const int n, const int r, int ith[]){
int i,5;
if (ith[r]==n){
for(i=r-1; i>0;i--){ // search position to add
if (ith[i]<=n-(r-i)-1){

ith [1] ++;
for(j=i+1; j<=r;j++) ith[jl=ith[il+j-i;
break;
}
}
Yelse{ ith[r]l++; }
}
N Y

O000dd edoooooO0 nOO0DO0DO0DOOODODODOODODO rODODOOD ,C-O000000000000 p,
O00000000000000 vietaterm 0000
s ratutil.cpp O vietaterm O O B

double vietaterm(const double e[], int n, int r){ // <== rational_vector
int ith[r+1];
for(int i=1; i<=r;i++) ith[il=i;
ith[r]=ith[r]-1;
double t=0; // <== ratiomal
long long nn=comb(n,r);
for(long long i=1; i<=nn; i++){
nxtcmb(n,r,ith);

double s=1; // <== rational
for(int j=1; j<=r; j++) s=s*elith[jl];
t=t+s;

}

if (r/2==1) t=-t; ' D0000ooogo

return t;

}
N J

000 vietaterm 000000000000 2000000 rational 000 rational 00 O0O00O0O0OOO
ooooooooao

“or(0000;00000;00000)0000000OOOOOUOO3000000000O0O0O0OODOO
000000000 1ong long i 0000000000000 320000000 2% -100000000
0000000000000D000D0000 rational OOO0O

3.24 0O000OO0O0DOODOODODOODOO

U0b00o0bo0oobD t000b0000 epsint0000000o0ooooooooboboOobbOtOb0oonn
OO0O00000000OD000000 dvsrchl.eppOO0O0DOO0OO0ODOOOOODOOOODOO

rational D000 0000000000000 0000CDC00O0OD askintyOODODODOOOOO 2000 epsint
gboboobooboooobobooooob 3sboboog
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ratutil.cpp O askinty 00O O0O00O0O
4 pp y ~N

int askinty(const double t, const double epsint, rational& vrat) {
double u;
int rtnval=0;
if (fabs(floor(t)-t) < epsint){
u=floor(t); vrat=Rdset(&u); rtnval=1;
}
if (fabs(ceil(t)-t) < epsint){
u=ceil(t); vrat=Rdset(&u); rtnval=1;
}

return rtnval;

N J

DO0O000000 t0 rational DO DOOOOO0ODOOOOODOOOOODOO

3.3 ODUuooobooodg

00000000 p(a) =aza®+a®+ama+a 000000000000000000000000000
00 p(z) = apa® +a2® +asz+a3 000 0000000000000000000000000000000
0000000000000 0000000000000000000000000000000000000
000000000000120000000000000 (13)0000000000000000000000
00000290000000000000002200000000000000 (23)00000000000
00000000000 000000000000000000000

n00000 n+10000000 afol 00 aln]l 000000000000 putpolynomial 00000
0000 getpolynomial 000 0000000000000 0OO0O000OOOOO0O00OOODO0O00OOO
000000000000 000000000000000000000000000000000

3.3.1 00000000

gooooOoOoOoOoOO0OO0OO0OOoOoOoOoO2000000000000O00000000O0O0O0O0O0O00O0O000O
goooogoooooooooooooooOoCoOoOoOoUooUoooooooooooooOoCooODOoggoo
OO00000000000 ppolynomial [k]-ppolynomial(k-1]-1 0000000000 OCO0OO0OOOOO
putpolynomial DO DO OOO

ratutil.cpp 0 putpolynomial O O
e pp LI putpoly ™

int putpolynomial(const int nsize, const rational_vector& cof, int npolynomial,
vector<int>& ppolynomial, rational_vector& cpolynomial){
int 1i,i1,i2;
il=ppolynomial [npolynomial] ; i2=il+nsize+1;
for(i=il; i<i2; i++) cpolynomial[i]l=cof[i-il];
npolynomial++;
ppolynomial [npolynomial]=i2;
return npolynomial;

N J

U0 getpolynomial U DO OOODOOO npolynomial DO ODOOODOOODOOODODOOOOOOOOO
ocooooooooooooooooooo
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ratutil.cpp O getpolynomial O O
( PP getpoly \

int getpolynomial(const int k, rational_vector& cof, const int npolynomial,
const vector<int>& ppolynomial, const rational_vector& cpolynomial){
int i,i1,i2;
if (k>npolynomial){
cout << "getpolynomial error npolynomial=" << npolynomial <<
" smaller than the first argument=" << k << endl;
exit(1);
X
il=ppolynomial [k-1]; i2=ppolynomial [k];
for(i=il; i<i2; i++) cof[i-il]l=cpolynomialli];
return i2-il-1;

googoogg

e put/getpolynomial 00000 ~
[/ xxxxxxxx get, put polynomials — skskskskskskskokskokskokokokokokokokokokokokok koo
int npolynomial=0; // number of polynomials found *
vector<int> ppolynomial(n+2) ; // pointer to polynomials *

rational_vector cpolynomial(n*2); // coefficients of polynomials *
[/ HFAEF A KA KA KK A KA KA KA KA KK A KA KK KK KK KK A KA KA KK KK KKK KKK

ppolynomial[0]=0; // O0ODO
int ksz=getpolynomial(iod,vrat,npolynomial,ppolynomial,cpolynomial);
polytexformr (vrat,ksz);

- J
Uobboodgl polytexformr DUUOUODOOOUODOOOUODLDOOOOODODN polytexform UODOOOU
polytexformr OO0 polytexform OO0 rational 000D 00000000 0D0OOD0OOOO 10000 /17
00000 polytexformint 000000000000 (19) 0 polytexformint D0 D000 O0DO0ODOO
oooooo

polytexformint 0 0O 00O O )

(: -1%x73 +12%x72 -44*x"1 +48

gooooop&OOOOOODOODODODODODOD RMIEXOOOOOOOooo

3.3.2 0OO0O0OO0OOO

000000000 ratutl OO0 O00O0O0OOOOOOOOODOOOOO0OMmMO
ratutil.cpp O polydivchk
f PP poly \

int polydivchk(rational_vector& u, const int m, const rational_vector& v,
const int n, rational_vector& q, rational_vector& r){
for (int k=m-n; k>=0; k--){
qlk] = uln+k] / v([nl;
for (int j=n+k-1; j>=k; j--) ulj]l = uljl - qlk]l * v[j-kI;

}
int rtnval=1; ' Joooooo
for (int j=0; j<=n-1; j++){
r[j]1 = uljl;
if(r[j] !'= rational::ZERO) rtnval=0;
}

return rtnval;

N J

gboobdobg1boobooboboobob oobooobwoboobobOoboobobobbobo
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3.4 000000

uboogoodboboobobooboobooboooboboboobobooboboboobobob
OO0O0000000DooOoOono BASICO C++000000O

3.4.1 OO0O0O0OO

selectev 000 0000000000000 OODO0ODO0O0OD0O0ODO0O0ODOO0O0OO0ODOO0O0OO edOO
00000 0000000000000 e=10"°00000000000 p(A\) 000000000000
000000000000 0oDoo0o0Dooo000DDo00o0o0o0nn rational 0000 a0 bO0OOO
0000000000000000000000 Horner D000 p(e) 0 p(b) 00DDO0DO0OOOOOOO
ooooopoooooogod
e dvsrch.cpp O chkine OO ™~

int chkinc(const int n, const rational_vector& p, const double e,
const double h, const int mult){
double ta,tb;
int rtnval=0;
rational a,b,fa,fb;
if (fabs(e) > eps){

ta=e-fabs(e)*eps; tb=h+fabs(h)*eps; // interval inflation

if (mult==0) tb=e+fabs(e)*eps; // 0001000000000
Yelsed{

ta=e-eps; tb=h+eps; // 00000000000

if (mult==0) tb=e+eps;
}
a = Rdset(&ta); fa=Horner(m,p,a); // rational 00000 p(a)
b = Rdset(&tb); fb=Horner(m,p,b); // rational DU ODOOO p(b)
if (faxfb<rational::ZERO) rtnval=1; // pCa) O p(p) DODODOOO 1
return rtnval;

}
N\ J

OO000000o0ooD0ob0obo0 10000000 included DOOOOOdvsrch.cpp DODOOOOOOODOO
U00 nsize DO 0O0OOO0OOODOOOOODOODOOOOODOOOODOOOOOO

3.4.2 00000

nO0000

() = apz™ + a1z Fagx" 2 4 Fan_o0x® + ap_ 17+ ap (32)

O=000000000000000algebraicequationd 000000 o OO0O0O0O0OODOOOOOOOOO
0000000000000 00000000000000000000000 (32)0 x=£00000 pa(§)
gbooobooboooboobooog

Pn(€) = (- ((a0§ +a1)§ +a2)§ + -+ an_1)§ +an (33)

000000000 (32) 000000 agxexexe---000 ey xaxexx--- 0000000000n(n+1)/2
gooooooOoOoOo0ODODOOOOOOO0OO0OO0 nOODOOOOOO BASICOOOO

EXTERNAL FUNCTION Hormer(n,a(),x)

OPTION BASE 0 ! JO00O00 oO0OO0OOOODOODOODOO
LET r=a(0)

FOR i=1 TO n
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LET r=rxx+a(i)
NEXT i
LET Horner=r
END FUNCTION

pe()0 x—¢00000000000000 Q(x)0 RODOO

Pu(r) = (= §)Q(x) + R (34)

0000000 z=£000000
pu(é) =R (35)
0000000000p,(€) 000 pu(2)0 2—¢000000000000000000000000remainder
theoremd 0000000000000 py(a) =a®—152—4 0 2 —3 000000000000synthetic
division0 00 0000000000000
1 0 -15 -—4]3
+) 3 9 18
17 37 67 22

000000000000000000 z—-30 3000000000000 100000000000000
000000 300000 3000000000000000000000000000000000000
00000000000000000000 ps(3)=(2?+3z—-6)(x—3)—22000000
00000000000000

ao ay ap— - (p—2 (p—1 an—§
_ap§— bif— -+ bn38— bn2f— bn1§
ap b1<—] b2<—] cee bn_2<—] bn—l‘_] R

0000000000000, i=0,1,...,n—1000 ROO

by = a+a
by = bi§+ag=(ao§+a1)§+az

bnfl = bn72§+an71 = ( ((a05+a1)§+a2)£+ +an72)§+an71
R = (- ((a€+a)§+a)f+ - +an1)§+an

00000000000000000 ROOOOOOOOODO000 p,(§)0000000000000p,(€)
0 pu(z) 0 2—¢ 00000000000 Q(x)O0000 ROOOOODO

pu(r) = (@ =8Q@)+ R, po(§) =R (36)

0000000 2000000
Pu() = (2 = §)Q'(z) + Q(x)

000 p,(6)=Q(€) 00000000000 pu(e) 0000 pl(x) 0 2=£000 p,(&) 00 Q(z) 0 = —¢
00000000000000000000

Q) =(x—T(x)+5,  p(=QE) =S5 (37)

10000 p,(x)0 2=£(0000000000000000O00O0O0ODOOOO
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EXTERNAL SUB Hormer2(m,a(),x,r,s)
OPTION BASE O
LET r=a(0)
LET s=a(0)
FOR i=1 TO n-1 1 i=1
LET r=r*x+a(i) ! bi=a(0)x*x+a(1)
LET s=s*x+r I s =a(0)*x+bl
NEXT i
LET r=r*x+a(n)
END SUB

i=2 i=3
b2=bl*x+a(2) b3=b2*x+a(3)
s=(a(0) *x+b1) *x+b2 s=((a(0)*x+b1l) *x+b2) *x+b3

20000000000000000 Horner3 OO OO

EXTERNAL SUB Hornmer3(m,a(),x,r,s,t)
OPTION BASE O
LET r=a(0)

LET s=a(0)

LET t=a(0)

FOR i=1 TO n-2
LET r=rxx+a(i)
LET s=s*x+r
LET t=t*x+s

NEXT i

i=1 i=2
b11=a(0)*x+a(1) bl2=bilix*x+a(2) b13=b12*x+a(3)
b21=a(0) *x+b1ll b22=b21*x+b12 b23=b22*xx+b13
t =a(0)*x+b21 t=(a(0)*x+b21) *x+b22 t=t*x+b23

i=3

LET
LET
LET
LET
END

r=r*x+a(n-1)
S=s*X+T
r=r*x+a(n)
t=t*2

SUB

Horner2 00000000000 NewtonSDFigBAS 000000000000 ODOOODOODOODOOO
00 300000002 -152—-4=000000000000000000000000000000O0O
Horner 0 Horner3 0 C++ 0000000 rational D0 ratutl OO OO OOOO

rational Horner(const int n, const rational_vector& coef, const rational& x) {
rational r = coef[0];
for (int i=1; i <= n; ++i) r =
return r;
¥
void Horner3(const int n, const rational_vector& coef, const rational& x,
000000000 D0000000 rational& r, rational& s, rational& t) {
if(n >= 2){
r = coef[0]; s = coef[0]; t = coef[0];
for (int i=1; i < n-1; ++i) { r = r*x + coef[i]; s = s*x + r; t = t*x + s; }
r = r*x + coef[n-1]; s = s*x + r; r = r*x + coef[n]; t = t*rational::TWO;
Yelse if(n ==1){

r*x + coef[i];

r = coef[0]*x + coef[1]; s = coef[1]; t = rational::ZERO;
}else if(n ==0){
r = coef[0]; s = rational::ZERO; t = rational::ZERO;
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3.5 1000004

0000000000000000D0%0000000 askinty 000000000000 O0O0DOOOO0OO
O0 rational 000000000100 o(A) 0000000 D0ODOO v(A\) O p(A)D00D00DOpolydivehk
uooo

( 10o000og \
for(i=1; i<=ngrpl;i++){
if (included[i]){ oooooooooo
if (askinty(eigvl[i],epsint,vrat[0])){ oooooooooooo
for (j=0; j<=nsize; j++) urat[nsize-jl=p[jl; OOOOOO urat O
vrat[1]=-rational: :0ONE; 00000 vrat OO0O

if (polydivchk(urat,nsize,vrat,l,qrat,rrat)){ 000000
included[i]=0; nsize —-;
for (i=0; i<=nsize; i++) plnsize-il=qrat[i]l; O0OO0OD0OOOOOOOOOCO
npolynomial=putpolynomial(l,vrat,npolynomial,ppolynomial,cpolynomial);
Y Yo
N J
gbooooooboo1bo0b0oboboboooboooobob0obOobol nsizeDO0OO0OOO0OOO1O

0000000000 putpolynomial DO ODOODOOO

3.6 200000000

oo0o0oboooboobooboon db 2000 nsizeOOOOOD0OOODODOOODOOODOOOOODOOO
gboogboobobooboobobooboobobbooboobobb0obUobb nsize0O0OOO00OO
Oo0000oooO0o00oooO0o00ooo0o0ooooOo0OooOoOFortran 0 DOOO OO BASIC O FOR
gbobooooooooboooboobooobooboooboooboooboooboobooooobooobooOoooog
OO0CO C++0 forJ0OoO00o0oooo0oopoOoooooooooboooooobobobDogoDbogg
000000000000000000000dvsrch.cpp 00 while(d <= nsize) 000000050

UO00000000000000 setecand 00000000 OOO0ODOOODOO0ODOOODOOODOODOO
evcan JO0O00000O0O0O0 00000000000 0OOO0O0O0D0O00O0DOO0O0DOwsevOOOOooOooOnO
Oo0000oooooo0ooooooooooDOOEgenvalued 0000 candidate0 0000000000
goo

int setecand(const vector<double>& eigvl, const int ncan,
const int included[], double evcan[], int usev[]){
int j=0;
for(int i=1; i<=ncan;i++){
if (included[i]){ j++; usev[jl=i; evcan[jl=eigvl[il; I};
}

return j;

O00200000000000 whileOODOOOOOOOOOOO a00000000O for(ii=1; ii<=nn;ii++)
gboobOoobooobobooboooobooboboboboboboobobboobobo0obbOOdnsetecandd OO
OO0 ncandi O0O000O0OOncandi OO0 4 0000000 peaneisCag D0O0000Onoff 0000000
evcan UO OO0 noff DUOUOUOO0OOOOOOOO0OO0DODODOOOOOO0OO0DODOOO idxDOOOOOO
nn=comb(ncandi,d) D0 O0OOOOOOOODOOOOODO

55for(i=1; i<= ngrpl; i++) DO D00 if(included[i]) OOOOCOOODO
56000 while 00D 000000000 DOFortran 00 do while(...) 0 O end do 00000 BASIC 00 DO WHILE ...
OO0 LoPpO0000O0BASICOODOODOODOODODOOOOOODOOOOOOOOOOOOO
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ooooooboboogos3gb if0j00oooobooooobooooobooooobooooooooooooo
gobooboboooobouobboob d0b00bbo0ob0o0o0d0nnd putpolynomial 0O 0O included
ooooooOoooooOooooOooDbbo0o0o0DODb00 ex00D000D0OOO0O00ODD dOODOODDOOO
00b000bO0o0oo0O0b0obO0oobO0oobO00oo0oboOoo0oOoboo0ob0b0oObbObOreset 0000000 break
UbO000obDobobodbdbO  reset 0000000 break 0O 0O0O0OOOOO0O00DO0O0 whiledO
OO resetJ000000DODO d00000DODO0OOODOOOODODOOOODO
s 200000000 ~N

d=2; noff=0;

while(d<=nsize){ // search for polynomial of degree 2 to nsize
ncandi=setecand(eigvl,ngrpl,included,evcan,usev); // set number of candidate eigenvalues
for(i=1; i<d;i++) idx[i]l=i+noff; idx[d]=d+noff-1; // initialize for nxtcmb

nn=comb(ncandi,d); reset=0; // since nn is type "long long", ngrpl-nuse should be "< 62"
for(ii=1; ii<=nn;ii++){ // loop over nn combinations of candidates
nxtcmb(ncandi,d,idx); // select one of _(ncan-nused) C_d candidates
u=0;

for(j=1; j<=d; j++){ figvl[jl=evcan[idx[jl]; u=u+figvl[jl;}
if (askinty(u,epsint,vrat[0])){ // pass the first cofficient check, then ...
int ok=1;
for(int r=1; r<=d; r++){
cof [r]=vietaterm(figvl,d,r); // make coefficient terms of Vieta’s formula from figvr
if (! askinty(cof [r],epsint,vrat[d-r])){ ok=0; break; } // if(not inty) ok=0, break
}
if (ok){ // OK all terms satisfy inty, try trial division
vrat [d]=rational: :0NE;
for (j=0; j<=nsize; j++) urat[nsize-jl=p[jl; // set urat with polynomial
if (polydivchk(urat,nsize,vrat,d,qrat,rrat)){ // trial division divided up
for (j=0; j<=nsize-d; j++) plnsize-d-jl=qrat[j]; // set quatient for next p(\lambda
nsize = nsize-d; // and decrease nsize
npolynomial=putpolynomial (d,vrat,npolynomial,ppolynomial,cpolynomial);
for (j=1; j<=d; j++) included[usev[idx[j]1]]1=0; // upate array included[.]
noff=idx[1]-1; // number of OFFed indecies
if (d+noff>ncandi) break; // there are no degree d left, then break for loop
reset=1; break; // candidates left for this degree d, set reset flag then break
T // if(polydivchk(urat,nsize,vrat,d,qrat,....)
} // if (ok){
} // if(askinty(u,epsint,vrat[0]))
} // for(ii=1; ii<=nn;ii++){
if (reset==0){ d++; noff=0;} // if(reset) continue loop with degree d, otherwise increment d
} // while(d<=nsize){

\_ J
5000 H,O0OOODOOODOOODOO 2,4,6,8,10,120 6000000 idx[11=1, idx[2]=4 0 0 0 Ousev[1]=20
usev[4]=8 OOey =1.2679---=3—+/30 e =4.7320---=3++/30000000000 —60 60000
0000000200 (A2—-6)A+6)0000000000000 ¢C,=15000030000002000
00000000 Osetecand ] 40000000000000000000000 idx[1]=1 000 Onoff =0
0000000000 idx0 1,1 0000400000000000

000000 4,610,120 4000000 idx[1]1=1, idx[2]1=3 000 Dusev[1]=40usev[3]1=10 O Oe, =
2.2679- - =4—/30 e10="5.7320---=4+v/30000000000 —80 1300000 200 (A\2—8A+13)
0000000000000 4C,=150000 20000002000000000000setecand 0 20
000000000000000000000 idx[1]=1 0000noff=00000000000 idx0 10
Oo0200000000000

0000000 6120 2000000 idx[1]1=1, idx[2]1=2 000 Dusev[1]1=60 usev[3]1=12 0 0 ez =
3.2679- - =5-30 €12 =6.7320--- =5+v/30000000000 —100 2200000 200 (A2—10A+22)
0000000000000 4C,=150000 1000000ncandi 0000000000000000C
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oooood His0OO g, 000000000000 0O0DODODODOODOO0O0O0O0ODODODODO0OOOODOO
ooooooooo 3+2+10 600000
H; 0 HoOoOOOOOOOoOooOoOoooOo40000000O0O0 1000D000DDOOODOOODDOOO
oono
gooooooooobooobooooobooooooobooboooboooooooboooooobLoboOoDo
boboobobooooboobooboobooooobooooboon
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4 0J00DD0OOOODODDOOOOO0O0O0d dvsrchl.cpp

00000000000000000000000.10 100000000000000000000000
0000000000000 000000000000000000O000O000O000D000O00DO0O0O
00000000000000 1000 15000000000000000000 400000000000
00000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000O000O0000O0000
000000000000000000000000000000000000000000O00000 LCM
O000LCMOO0OO0O0O0O00D00000D00000D00000O00000 LCMOOO0O0000000000
0000000000000000000000000000000000000Odvsrch.cpp 0000000
0000000000o0o0oo

00000000000000000 22'—-10000 2% -1 00000000000000000000
00000000000000000000000000000000000000000000000000
0000000%000000000000000000000000O00000000000O0000O0000
0000000000000 40000040000000000 800000000 16000000000
0000000000000000000000000000000000O00 %>

0000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000O0000
000000000000 0000000000000000D0 200000000000000000000
0000000000000000000000000000000000000000000000000

00000000000000000000000000 200000000000 01000000000
00000000000000000000000000000000000000000000000000
0000000000000 00000O0000000000000000000000O00DOOO0O00OD
000000000000 0000000000000000D000000000000DO00O00DOUOD
0000000000000000000000000000000000000

OOOdvsrchl.epp 0000000000000 0D0O00DOO0O0O00OO0OOO0ODO0OOODOOOOOOOO
000000 1000000000000000200010000000000000000000DO0O00DO
00000000000000000000000000000000000000000000000000
00000O0ooo0oooo

4.1 0DOO0OUOO0O0OOOOOOObObOooOobo

gobooobooooobooobooooobooooboooobooobooooooooobboobboobooDbo 200
gooooooooooooobooooooobooobobooboobooobooboboboobbooDbooooo
gobooooboooboooboboooboboooboob200b000b0000O0O0O0bOO0OObOOODbbeDOOO
Do0ooooooboogdddlowerD O00O0upperd O0interval 0000000 eigint[i] OO0O000O0O0
goboooooooooogoboobooobooooobooobooooboooboooboooobooobooooooboog
gboboobooooboobooooobooooboooobooooboobooooboooobOonob s300
gobooboooboooboooooboboobooooooboobooboooooobobooobooboooog
oboooooboooooobooon

5700 BASICODOODOOOOD Java O Biglnteger 0000 0000000000000000000000

80 000000000000000000000000000000000000D00000000000000000000000
ooooooooooonoo

0000000000000000000000000000000000D00000000dO00000000 400000000
goooooooooOo0oO0o0obooOO0OO0OO0O00OCOOO0OO00bOOOO0O00O0
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x [ I ]

L 7

U4 0000000000000O00O000O0

00000000000 00000000000 343000000000 300000ey=1.270e16 = 4.73
goobooooboooobobobooboboobbobooboobooooboooobo 2000000 -60 600
000000000 —r=ex+e=600000 s=e2-€16=60071 000000000 10000000
oo 10000 1270 473000000 60.0000 e00.71 000000O00O0DOOODOOODOOO12.740
473400000000 60.08 0000 6031116 DO OO DOOOODODOODOOODODOOOODODODOOOOD
goboooobooooooooobboobooboooooobooobooooobooobooobooooooog
goo0ooooooooooooooOoooo0 L)CeMOooooogoooooooooooooooooooo
0270000 e =7,205,759,403,792,791 0 160 0000000000000 1600000000000

goooooooooooooOooOoooooooooO0ooooooooOoObDO0000 doboggoogo
d

ooo pd:HakDDDD

k=1
d

sO0¢t0o0O000 st0000000O0O000 400D00O0O0O0O0DOO0O0O00O pd:HakDDDDDDD

k=1
b0 0000000 o00000000DO0D000D00 «00o000000000000000u>v0O

gboboobdobo «+10000000000000000DO40000000000000000O
oboboobooboooooooboooonog e 0000000b00o0obooooo20000000000
000 logy,e; +1 00000000000 DOOOO0ODODOOOO 2000000 d000O00O

d - (logy e; + 3) (38)

U0pg 0 20000000000000000000000000O000O00 e, 00b0000DOODOODOOO
ooooood

goboooooobooobooobooooobooobooobooobooobooobooobooobooobooD 10DO
gobooooboobobooboob1gboobooobooooobooobooobooboooooooooonog
ooooDb2000 30D0400000000000000000DODODOOODOOOODO dAO0O0DOOOO
obooooOoboboooboobooooobooboooooono

OO0OO0O0OOdvsrchepp 00 pp O0OOCODOOODOOOOOOOdvsrchlepp 00000 OOOOOOODOO
gboooboobooboobooboobooboobooboooboobooooboobooboOoboooboOobooonDg s
U30b00oooboobod ppoboooooboboooboobooooboobooooobooooboooo
OOooooooOoOoooOoogooooooooo0ooo0oooooogdbDfleorQOOO0DOODOOOO
gooooobooooooobooooooboboboooobOo bbb obbobooobobooog
0000 p, 000000000000000%0

0000000000000 0dvsrch.cpp 000000 epsint 0000000000000 00000D000DO0O0DOODOOODOO
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Os5 000b00boooog

ooooobooooooooooooboobooobooonoog mOpdpsO--- OOODOOOODOODO
gbobooooobobobobooooboooobobobobooobooosobonbobOobOon pUpsO
psOps OO0ODO00DOO0OO0 4900000000000000000O0 2000000000000000000
ooood

goooooooooobooobooooobooobooobooboobooooobooboooobooboODo
gobdz200000000000000000O000 2000000000000 00O00ODO0O0O 20000
gboooooboooboobooobooboooooboobo 2000000000 0bO0b0Oo0bboOooboOoonog
goooooboobo 200000000 p 000OD0O0ODOOOO

oboobooobooooobobobobo200000b000b00obooobo0oooooooooobooon
gboboooooobobooooooooobooboooooobooboboooooobobooboonog
obooooooooogon

OO00O000O0Ointerval OO0 0OO0O0OInterval 00000000 OCO0OCOOOOOOOOODODODOO
gooooood

4.1.1 000000000000

Fortran O complex 00000000 0OO0DOOO2000000000000DO000DODODOODOOODOOO
00000000020 0000000000D0O00DO0OD0DOO0O interval DO0OD0OO0OOO0ODOOODOOOO
ooooboooboobooboboboobooono

interval U0 OO UO0O0OOMO interval U0 rational OO OO0OODOOOOOO +, —, «x0000OOO
gooooocCc++0O0OO0OoOoODOOODOODODOO

00 2=(ae,b) 0 200000 o0 000000 “interval x(a,b)” 0000000000 O0OOOOO
0000oooooooooooooo00doO 0000000 rational 00000000000 x.lower()O
000000000 x.upperO) 00000000 2=(a,b) 000000000 (-b,—e) 000000000
y=x.neg() 000000 z=(a,b) 000 y O y=x.inv() 0O OO

00 x1 = (a1,b1) O 22 = (ag,bp) 00000 20000000000000000O0O00O0OOOOOOO
oooooooboobooogooo

1+ 22 = (a1 +az, b1 + b2), x172 = (a1a2,b1b2)
gooooooooooooboooboooooooooooooboobooooooooooboon
1 — 22 = (a1 — b2, b1 —ag)

0000 020 20 a3 =(19.9,20.1) 0 22 =1(9.9,10.1) 0000 Oxy + 22 = (29.8,30.2) 0000 21 —xg =
(9.8,102) 0000000000 0400000

ooo0oooobl —coc0O0O000O0O0 +vcob0000O0O0OO0ODOOOOOOOOODOOODOODOOODOO
0000000000000 00o0ooo0oo0ooOg zee = (bibe,a1ae) 00002, 00 2z, OO0O0OO
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O 2129 = (a1be,biae) 0002, 00 2 000000 2120 = (b1ag,a1be) 000000 4000000000
interval D0 000000000 DOOO0OOODOODOOOOODOODOOOOODOOO

goooboooobgon

interval 00000000000 Ointerval 00 rational 0000004+, —,«000000000OO

interval 0 000000000000 0ODOODOOOOOODOO0ODOODODOOOOOOODOOODOODOO
floor() 00D O0D0O00DO0O ceil() DODOODODOODO%O

interval 0000 eigint[i] 00000000000 formatprn(eigintl[il]l); 000000 0OOOOO0O
gooobooobooobuoobooboobooboobooboobooboooboOo WOooboobooo
gooood

583767772594036.526309582779885448 (47 digits) 8436625927967713587
583767772594036.526309582779885448 (47 digits) 8436625928275423346

gbooobooboobgooboobooboo

64851834634135145.999999999999999999 (47 digits) 9999999999907331953
64851834634135146.000000000000000000 (47 digits) 215051817

formatprn DU 001000 000000000000 0O0O0OO0DOOOOO0ODOO0ODLOODODO

4.1.2 interval 00000000 OOO

U0oOob0gibOd epsint U0 O0OO0OOODOOO0OOOOOOO0OO0OO0O00O0O00O00O00DO0O00O0OOe; =eq
UO000Oe+es=ex+e3 000000000 ea+e3 000000000 OO0OO0OO0O0O0OO0OO e1+e3
OO00DOO000O0000000O0n0 dvsrehlepp OO0OOOOODODOODOOOOOOOODOODOODOOO
00 epsint 0000000000000 DODOO0OODODOOOOOOOOOOODOOO®000000000
OselectevO ODOOOOOO0OOODOO

s epsint OO ODOOOOOOOOO N
for (i=1; i<=ngrpl; i++){
if (i==1){ eveps=epsint;
Yelse{
if (fabs(eigvl[il-eigvl[i-1]) < eveps) eveps = fabs(eigvl[i]-eigvl[i-1]);
} o3
if (epsint > eveps) epsint=eveps; )

000000 epsint 0020000 bisect U0 OOODOOOOODOOODOO0ODOODODOODODOODO
dvsrchl.cpp 00000000000 OOO0DOOOOOOOODOOOODOOODOOOOD20000000
gobooooobooobooobooobooooooobooboooboooboobooboobooooOoobooooog
OO000Oo00o0o00oo00oo00Do0o0b0O0binclusion0 00000000 O0O0OOOOOOOO
U000 chkineOOOODOOOOOOODOOOOODOOOOOOOOOOO

6lJg00000 FFTOOODOOOOOOO0OO00O000000000000000000000000000000000000000
000000000000000000000000000000

20000000000000 “G9 000000000 7,12,22,28350 50000 (A5 — 142* 4 69A3 — 14202 4 112X —29) OO
00000Oey; =.7560--- 0 e1p =.7561--- 0 0.01 0000000 depsint=0.01 0000000000000 000O
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s chkinc 0 O

x\
int chkinc(const int n, const rat::vector<rational>& p, const double e, const double h,
0000 const int mult, rational& a, rational& b){ // a 0 b O0OO00O00OO0
double ta,tb;
int rtnval=0;
rational fa,fb;
if (fabs(e) > eps){
ta=e-fabs(e)*eps; tb=h+fabs(h)*eps;
if (mult==0) tb=e+fabs(e)*eps;
Yelseq{
ta=e-eps; tb=h+eps; // consider eigenvalues close to zero
if (mult==0) tb=e+eps;
}
a = Rdset(&ta); fa=Horner(n,p,a); b = Rdset(&tb); fb=Horner(n,p,b);
if (faxfb<rational::ZERO) rtnval=1;
return rtnval;
}
- J

gbooobooboobo 1boo00o

chkinc 0000000000 OO (¢,b) 0000000000 OOOOODOOOODODOO eiglowlil O
eiguplil] 000000000000 interval 000000 eigint[il] 00000000 inclusiond 0000
gooobooobooboobobobobooobooobooboobo

s inclusion 0000 10000000000000O

nexist=0;

for(i=1; i<=ngrpl;i++){
included[i] = chkinc(nsize,p,eigvl[i],eigvh[i],mult[i],eiglow[i],eigupl[il); // 00000 1000
nexist += included[i]; // O00OOOOOO
eigint[il=interval(eiglow[il,eigup[il); // interval 000000000000

~

}
if (nsize == nexist){ // 00 0inclusiond 00O
for(i=1; i<=ngrpl;i++){
if (included[i] > 0){
eigvr[i]=Rdset (&eigvl[il]); // 0000000000000
faeig=Horner(nsize,p,eiglow[i]); fbeig=Horner(nsize,p,eigupl[il);
if (faeig*fbeig > rational::ZER0){

cout << " ERROR check Hormer ..... faeig=" << faeig << " fbeig=" << fbeig << endl; exit(3);
}

int irtn=bisect(p,nsize,epsint,100,eigint[i],faeig,fbeig,eigvr[il); // tol O epsint 0O OO0
included[i] = abs(irtn); formatprn(eigint[i]);
}
}
Yelse{

std::cout << "ERROR nsize != nexist STOP" << std::emndl; exit(3); // 000000000000
o Y
bisect U O UODOOOO1000000D00D00OO0O0ODODODODOOD epsintd00oooonogon
O0vpisect 000 ratutil DO 0000000000000 DOO0ODOOODOOO0DOODOOOOOODOODOD 2000
ogooooooo
200000000BOOO0OO0UOOOOUOOOOOOOUOOOOOUOOOOOO (a,b)000 ¢c=
O000o00oOOUp(e) -ple)<00000 (a,¢) O00p(e)-p(b)<00000 (¢,b) 00000 ROOODO
00000000000000000000000000 00 2700000000
ooobooooooobooobboooboboooooboo0ooDbooUooDoOboooDbOooooobo oo
0000000000000 000000000000000O0Obpisect 000 ratutil 00000000000

a+b

int bisect(const rat::vector<rational>& p, const int n, const double tol, const int maxit,
interval& ab, rational& fa, rational& fb, rational& c) { // OO ab [0 interval [
rational a, b, fc, fdc, fddc;
int it=0, itshift=0, rtnval;
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Horner (n,p,ab,fa,fb);
a=ab.lower(); b=ab.upper(); // switch from interval to two rational
while( it < maxit){
it++; totalit++;
if (faxfb > rational::ZER0){
cout << " bisect(interval) error STOP" << endl; exit(3);
}
if (it >= maxit){
cout << " bisect(interval) MAXIT reached it=" << it << endl;
rtnval=-it; break;
}
c = (a+ b) / rational::TWO;
Horner3(n,p,c,fc,fdc,fddc);
if (fc == rational::ZER0){ // 00000000c O00OO00O00O0O0DOODO
a=c; fa=fc; b=c; fb=fc; rtnval=0; break; // 0D0O0O0O 0 O0OOO

}
if (faxfc > rational::ZERO){ // 00 (c,b)y DOOO
a=c; fa=fc; // 00000 a0 c 0000, OOO0DODOOODOOO
Yelseq{ // 00 (a,c) O0OOO
b=c; fb=fc; // 00000 v0O cO00O0, ODOODOOOODOOOO
}
if ((double) (b-a) < tol){ // 00000
cout << " bisect(interval) converged b-a=" << setprecision(16) << (double) (b-a) << endl;
rtnval=it; break; // 00000000000
}
}
ab=interval(a,b); // 000ooog
return rtnval;

0000000000 (e,b) 00000000DOO0ODDO0O0OOOOOOOOOOOOOOOOOOOOOOO
O0oo000doooooo ooooOo0oOoooooooooDoOOoCO000o0ooODOoODODOO0ODODO0OO0 tol O
00000000000 00O0O0 (-1)0000O0bisect OO0 100000000000OOOOOOOOO
0000 epsint 00000000000 DDOD0O0OO0OO0OOOHorner O ratutil OO0 OODOOOO

dvsrch.cpp 00 10000000 0askintyOO0 epsint D0 000000000 Ointerval 000000
gooooooooooooooooopoooooogoooool10D0oooooDooooDoogooooog
O0interval 00000000 interval 0000000000 upper() DOOOOrational 000000000
O floor() 0000000000000 OO00OO0 ceil()DODOO0DODODOO%O

if (eigint[i] .upper() .floor() == eigint[i].lower().ceil()){

OO00O00O0bO0000b00b0000Depsint OO0 000000000 OO0OO0OOO0OOOOODOODOO
OO0O000D00 flecorQO ODO0OO0OOlongint OOOOOOO0ODOOOOOODOOOOOOOODOODOOOOO
gboooboooooobooog

20000000000dvsrch.cpp 0000000DOOOO0OO0OODODOOOOOODODODOOOOOODO
gboboobooobobooboooboobooooobooboooboooooooooboobooobooobooooOoo
000000o0oU0o0ooo0oo0oo0o0o0ooUo0 33)0U0Uo0oooooooooOooUooo
goboooobooobooboobooboobooooooobool100ob0ooboooobooOoooOooog
gbi100000000000bo0o0oo0obo0obooooobo20003004000000000000000
pooooooooboooob ¢O0ooooOObOOO00goooDOObO00DOoogoooDObbOoOOo

63floor(t) 000000 t.floor() 000000 floor 000 rational 000000000000 000D000DOODOOOODOO
O0000ratutibth 00000000000 D00Opublic 000000
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gooood

0000000000000 000000000000DO00D00DLO000Do0O0DbOOoDoDooDOOooDOooOn
000000000000 bOO000D0DbOO00o0D0bOOo0o0oDDOO000oDDbOoOo0ooDDbOOoOoOooDDoOoOoOoooOg
Joooooooooboooobbboddoo4«4400ggog so030n0Dp0bobobobbooooo1o0boooon
0oodoo00odoooobooooooooooooooooooDoobooDoooDoooooooooon
100000000000000000000000000000000 setecanint 000000000 dfcand
Joooooooboobooooooo 80D oDoooDoo
floorOODOOODOOO0DOODODOODODOODDODODOODOODOOODOOODOOODOOODOODDOODOODN
s setecanint [J [J N

int setecanint(const rat::vector<rational>& eigvr, const vector<interval>& eab, const int ncan,
const int included[], rat::vector<rational>& ercan, rat::vector<interval>& ercanab,
vector<double>& dfcand, int usev[])

{
int j=0;
for(int i=1; i<=ncan;i++){
if (included[i]){ // 00000000000000000
jtts
usev[jl=i; ercan[jl=eigvr[i]; ercanab[jl=eabl[i];
rational tmp=eabl[i].upper(); // 000000
dfcand[j]=(double) (tmp-tmp.floor()); // O0ODODOOO0O0OCODODODO double precision 00O
3
}
return j; // return number of candidates set in array evcan[1] to [j]
}
N J
Jgooobb 200000000whiledddooboboooood a0bgoooobboboooo
goboobo2000b0000b0000O
( N

for(i=1; i<=ngrpl; i++){
if (included[i]>=1){
log2ev=log2(eigvl[i])+1; // log_2(e_i)
int reqndeig=((int)log2ev+2)*d+accdouble; // Required Number of Digits d*( log_2(e_i)+3)
if (chkonce(nsize,p,eiglow[i] ,eigup[i],faeig,fbeig)==0){
cout << "chkonce ERROR then STOP" << endl; exit(3);
}
double stmp=pow(2,log2ev*d); double epstmp=1/stmp; // 200000000000 100000000
int irtn=bisect(p,nsize,epstmp,reqndeig,eigint[i],faeig,fbeig,eigvr[i]);
if (irtn < 0){
cout << " bisect not converged STOP" << endl; exit(3);
}
if(irtn==0){ // O0000COO0ODOOOOOOOO2000000000
cout << " bisect encountered rational number solution" << endl;
}

formatprn(eigint[i]);

U Y,

chkonce DU O UO2000000000000O0 Horner DOOOOO2000000000000000O0O00O 0
gbboooboooboobooobooobooooboobooobooboooooobooooboobbooooooog
ooooboooboo

obooooobooobooboboboooobo 2000b00booogooDo
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200000000000
(" N

d=2; noff=0; reset=0;
while(d<=nsize){ // search for polynomial of degree 2 to nsize
if (d>nsize/2 && d!=nsize){ // d>nsize/2 0 nsize 00000000 Od=nsize 00000000 OOOOOOOO
d++; reset=0; noff=0; continue;// U0 00000000000 O0OOOO (FACTORIZEONLY [J#define OO OO 0O)
¥ // reset, noff 00O OOO continue
if (reset==0){
goodoooooooooood
}
ncandi=setecanint (eigvr,eigint,ngrpl,included,ercan,ercanint,dfcand,usev);
for(i=1; i<d;i++) idx[i]l=i+noff; idx[d]=d+noff-1; // initialize for nxtcmb

nn=comb(ncandi,d); reset=0; // since nn is type "long long", ngrpl-nuse should be "< 62"
for(ii=1; ii<=nn;ii++){ // loop over nn combinations of candidates
nxtcmb(ncandi,d,idx); // select one of _(ncan-nused) C_d candidates
double ud=0;
for(j=1; j<=d; j++) ud+=dfcand[idx[j]];
if (askinty(ud,epsint)){ //dvsrchl: pass the first cofficient check, then ...
for(j=1; j<=d; j++) figv[jl=ercanint[idx[jl];
if (vietatermschk(figv,d,cor)){ // OK, try trial division

for(int r=1; r<=d; r++) vrat[d-rl=cor[r]; vrat[d]=rational::0NE;
for (j=0; j<=nsize; j++) urat[nsize-jl=p[jl;
if (polydivchk(urat,nsize,vrat,d,qrat,rrat){ // trial division divided up
for (j=0; j<=nsize-d; j++) plnsize-d-jl=qrat[jl; // set quatient for next p(\lambda)
nsize = nsize-d; // and decrease nsize
npolynomial=putpolynomial(d,vrat,npolynomial,ppolynomial,cpolynomial) ;
for (j=1; j<=d; j++) included[usev[idx[j]1]11=0;
noff=idx[1]-1; // number of OFFed indecies
if (d+noff>ncandi) break; // 00 4000000
reset=1; break; // 00 4000000
} // if(polydivchk(urat,nsize,....
} // if(if(vietatermschk(figv,d,cor)){
} //  if (askinty(ud,epsint)){
} // for(ii=1; ii<=nn;ii++){
if (reset==0){ d++; noff=0; }
} // while (d<=nsize){

N J
00000000000 INTYDOUBLE O #define O O %40

TOOO sO00000 4x40000000 “T4'0000000 2000000 1600000000000
00009000000000000000000000000000000000000000000000
00000000000000 e00000000 e0000000 (a;,b) 000000000000000
0000000000000000020000000 HsO0OO0OO0OO0O0O04-A0000000000000
00000 p(A)=A2—8A+150000000p(e;)-p(h;) <000O00 +01000000000000000
00000000000000000 2000000 p(A)0000000000000 2000000000
0000004x4000 20000000000 H;O0OO0D0D e4=30 ¢=5000000000000

“4°0000020000000 H30000000000000 (14,411,518,807,585,588 —A) 000 0
ooooooo

p(\) = A2 — 28,823,037,615, 171, 176 + 194, 711, 132, 195, 056, 057, 687, 171, 823, 724, 135
2200000 (26)00000000000 010000 k=3,602,879,701,896,397 0000 O

p(A) = A% — 8k\ + 15K> (39)

641 0000000000000 00001800000 3000000000430 3000000000000000000000
090000ooooo20000000o0oooboo0o0o0ob0ob0b00o00o0ooooooooooOoOobObOoOo00OoOoooooooooooDOn
goo0o0oooooooooo0o0ooo00ooOO0O00oOoOO00ooOoO0O0ooOO00OooOO00DOOO00OOOOOCT2DOOO0
000dooooooooooooooooonooonooonoooooooooooooooooono o0l oooooooooooooon
0oooo0o0o000oo0o0oooooO0O0d“grepnok OO0OO0O0” 000000000000 dvsrch O dvsrchl 00000 epsint
00000000000000000000000 eps=10"°2000000
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0000000 “T4 000000000 k0000000000000 0000000000000000
0000000000000000000000 20000000000000 LCMO 2000 LCM =
36,028,797,018,963,968 =2 =10k —2 00 000000000000000000O0O00O0OOO0OOOO
LCMODOOOODOKDOOODODODOOOO (39)000002400000 (28)00000000k000 AD
000000000o0oDoooDoDoooDD0O0D “T4’0000000°%0

“T 00000000000 HyOOODODOO —A? + 3608 — 56407 + 504016 — 28263)\° 4 102924\* —
242744\3 + 35625602 — 293772) + 102960 0 000 “% 5, 000000000 0O0OO0OO0H, 000000000
00 105321---43200 1460000000k 000000 1029600 “T 5’ 000000000000 O0OO
0000000000000 0O00D0000000000000onononononoooooo

4.1.3 0O0OO0OO0OOO0OOOOO

oobooooboogobooboooooboooooobbooooooooOdp 00 ;p 0 0o000o0gdop, O
Uoe010000000000p; 0000000000 a3 0000000iapaz 000 1000000003
obooooOobo0oooobobfod e OOOOOOOO p, 000000000 oy OOO0000O ayapagay
0010000000000 amaas DO0DOO0OOO0D00O00DO0 a; 00000 eazoqes D00 10
Ub0o0MmooibUd ez 00000000000 OO00DOOOO0ODOODOOOODOODOO 10 120
12300000000 num 00000000000 spd000000O0O0OO0O0O00O0O0ODOOOOOOO
U0o000000bD last0000O000O0O0O0O00DOOOOOO20050000 ps00O0O0O0O0OO0OOO
oooooooooboobooogoooon

b1 (e%1 (%) [ (71
~—~ ~— ~—~ ~—~
0 16—1 23—1 26—1
P2 = —( [e5Ke%) + 103 + 1oy + 105 -+ 042013 + Qg + [65Y0% + Q304 + Q305 + Q05 )
S~~~ e ad S~ = S—~— N~—~— N~—~— N~ Y
1 9 13 15 16 20 22 23 25 26

~ A~ ~ A~ ~ ~ ~ = X D ~
D3 = Q102 (i3 +0rpQrp g + Qg Qs + (1 (i3 Qg + Qi (i3 (s + Qi Qs+ Qa3 Q.+ Qi3 (5. + Qg iy Ol + (i3t i
—_— Y Y Y Y Y~ Y ~—— ~—— ~——
2 6 8

10 12 14 17 19 21 24
ps = —(Qr0og03 a4 +0razas as +apazag as +aazag as + aazag s )
3 5 7 11 18
ps = Q1az0304 05 (40)
—_————

4

ooooooo «s»o0oo00o0bo00gogo sopoopooooDoocoo00U0y numbOO0ODODO 123000
OO00D000000000 ez OO0 sp0 00000000 400000000000000400n
Ubobooobooobobo40 10000 50000 00000 yepaza; 0 100000000000000
obooooobooboboob sboboooboobooooobooooboobooooboboooooboonoo
goooobooboooobobobooooboooooboboooo

e JOOUDOOOUDO rOl10O00O0O00DOODO nOOOOODOOODOOOOOOOOOOODLOOO
0l1lo00ooobooooooooo

e JOOUOOnOO0ODOOOLOOOOODOOOODOOO

65dvsrchl.cpp 000 0000000000000 00D00O0DO0O0DO00DO000000000 LCMOOOOO0ODO0O00OO000OO
O0rk0000000 LCMOODOOOO
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e 00O ODODODOODODOODODOODO nDbOO0ODODLOOIDOODOO0ODODLO x0D00O
obooboooobooooobdob nOOO0OO0ODOODO

O100000num000000 200 spO0000O0OO0OO0ODOOOOOCOOODOOODODODO30000000 O
0400000 «000000C0OD0OODO0ODO e00000OD0OODODODOOOO0ODOO pOOOOOOOODOO
0000000000000 000 lastD 0000 dird=1000000000=00000000000
0000000000000 mlvietaODODODOODOOODOOODOOODOOOOOD 1000000

s mulvieta N

int mulvieta(vector<int>& num,const interval& sp,const int n,const int r,
const vector<interval>& e, vector<interval>& p,vector<int>& last,int dir) {
int dgt, dgtl, rtnval=i;
interval t;

dgt=num[r]; // 00 sp 0000000
if (dir == 1){ // 0000000
dgtl=dgt+1; // 0000dgt O 1 0000
Yelse{ // 0000000
dgti=last[r]+1; // 0000000000000 1 0000
}
t=sp*e[dgti]; // t = sp * \alpha_{dgt1}
plrl=plrl+t; // 00000000000 + 0000
last[r]=dgt1; // 00000000000 DO0o0Od
if(r == n){ // check if the final term 123...n case

if (p[r] .upper() .floor() != plr]l.lower().ceil()) retern 0; // 0O OO OOO
}
if(dgtl < n){

num[r+1]=dgt1;

int inty=mulvieta(num,t,n,r+1,e,p,last,1); // 0000
if (inty == 1){ <--—-—- J000000D00000DO000 if 0O00D0OO00D
if(dgtl <n) mulvieta(num,sp,n,r,e,p,last,0); // JOO0O0O0 n OO0ODOOCOODOOODO
Yelsed{
rtnval=0;
}
}
return rtnval;
}
. J

O0 num0 10000200000 sp0 oy 000000000 (40000 pp 00000000000 (40) 0
260000000 000 1500000000000000 pO000OO0O0OO0OODOOOOOD 40)00 pp0OO
16-1 00000000 0 sp00000DO00O00OODO0OODODO 1600 2000700000000 0 pOOO
00000000 (40000 py 00 23-1 00000003 O sp000000002300 25000 3000
000000 p0000000D0OOOO 40)00 p 00 26-100000000 0sp000000O0OO
000000 26000 10000000p, 00 p; 00D0O0OO

0d0o00ooo0oooo0oooooo0Uoooo00Uoo0oDo00oDoOoOooDUoDoOoOoDOoOoDn
Jd0d0d000o0odoo0ooooo0oo0oo0oo0o0UooUoOoooUooUooDOoooOoooOg
000000000%000000000000%----"0000 if0000000000000%000000
000000000000 0D00000Omulvieta(123,e(1)*e(2)*e(3),5,4,e,p,last,1) O sp= ajazas
OO00000000 dgti<n 000000000 dir=0000000000000C0OO

0 D0D00000000000000000000000000 200000002000000000000000000000
gooooooooooooooooobooboooo

"00000000000000000000000000000000000000000000000000000000000
0000000000000 0000000D0O000 YUUOO0DO0OD0O0OD0O00000O0O00000DLO0DO0DDO0ODO0OD0OD0OOO0LODO
HanoiStackMR.BAS OO0 D 0O00DOOO0DOOO0O0O0O0O0O0O0O0DOOOODOO
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Jd00d0D00o0bDOoU0oU0ooU0odboOoU0oo0DO0U0o0oDOoU0oOODOo0ooOoDOO p, 00ODOO
0000000000000 0000000D000D0d0OmulvietadOOO0O vietatermschk OO OO OO
O000On000000000O0O0Orational 00000 OD0OOO0O
s vietatermschk N

int vietatermschk(const vector<interval>& e, const int n, rational_vector& cor) {
int i,r,inty,ok=1;
vector<int> last(n+1), num(n+2);
vector<interval> p(n+1); // 0000000C000000o0Oogd
for(i=1; i<n; i++){
num[2]=i;
for(int j=1; j<mn; j++) last[j]1=0;
inty=mulvieta(num,e[i],n,2,e,p,last,1); // p.2 OO p.n O0O0O
if (inty==0){ ok=0; break;}
}
if (ok==1){
interval t=el[1];
for(r=2; r<=n; r++){ interval er=(elr]); t=t+er; } // 10000000

if ((t.upper()) .floor() == (t.lower()).ceil()){ // p.1 000D DOOOO
cor[1]=-(t.upper() .floor()); // 00000000
Yelsed{
0k=0;
}
}
if (ok==1){

for(r=2; r<=n; r++){
if (plr].upper() .floor() == plr]l.lower().ceil(D){ // OOODOOOODOOODO

if(r%2 == 1){ // 00000
cor[r]=-plr].upper().floor(); // O0O0ODOOOOOOODOOOOOOO
Yelse{ // 00000
cor[r]=plr].upper().floor(); // O0ODOOOODOOO
}
Yelsed{
0ok=0; break;
}
}
}
return ok;
}
N J

cOC++000000DOOO000DOODOO00ODDO00ODOODO0DODOOO0ODOODOODOODODOO
O000D0O0000000000rational 000000000000 O0O00ODOOOODOODO0OOODOOOO
ooooo0O20000000000000000O000O00O0C0O0DOO0O0DOO0OOOO0ODOOODOOOO0O0O00
oboooboooooobooboobooooobooboooon

oooboooooooooooooooosonoonoong s100 n=1000000000000000O
O0000000 Hs; OO0Odvsrcheepp DODDOO0D0O0OO0O0O0DOOO 100000000000 0O10000
oboooboooobobosboobobobooboooooboboooboooobooboobooooboonog
googooo

bisect(interval) converged it=50 b-a=3.077097586687155e-76
583767772594036.526309582779885448 (47 digits) 8436625927967713587
583767772594036.526309582779885448 (47 digits) 8436625928275423346

bisect(interval) converged it=53 b-a=1.000150533063272e-80
4973981023983810.402897873009471205 (51 digits) 9607109244384125545
4973981023983810.402897873009471205 (51 digits) 9607109244484140599

bisect(interval) converged it=54 b-a=9.708652095377912e-83
12360545839211637.931305869131004270 (54 digits) 9754735196749000320
12360545839211637.931305869131004270 (54 digits) 9754735197719865529
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bisect(interval) converged it=56 b-a=5.006853152565665e-84
20398280080415685.794626887998834475 (55 digits) 8585394269792407540
20398280080415685.794626887998834475 (55 digits) 8585394270293092855

bisect(interval) converged it=56 b-a=1.628300893324702e-84
26535259917929975.344859787080804599 (55 digits) 9968771758050478038
26535259917929975 . 344859787080804599 (55 digits) 9968771758213308127

000000001007 0000000000000000000 p, 00 ps000000000 vietatermschk
ODO000010000000 t+002000000 plx]O0000000000O formatprn(plr]) OOOODO
gboooboooboooooboobooooo

first order term=-6.485183463413514e+16
64851834634135145.999999999999999999 (47 digits) 9999999999907331953
64851834634135146.000000000000000000 (47 digits) 215051817
2-th term=1.453843120389752e+33
1453843120389751897397549617140207 .999999999999999999 (30 digits) 9999999999940444156
1453843120389751897397549617140208.000000000000000000 (30 digits) 138209312
3-th term=-1.309505467048489e+49
1309505467048 (24 digits) 5683597576439.99999999999999999999999999999999999999999986875:
1309505467048 (24 digits) 5683597576440.00000000000000000000000000000000000000000030458
4-th term=4.043992000072597e+64
4043992000072 (39 digits) 9995286931439.9999999999999999999999999988631:
4043992000072 (39 digits) 9995286931440.0000000000000000000000000026383
5-th term=-1.94266889222573e+79
1942668892225 (54 digits) 3322522936223.999999999996916:
1942668892225 (54 digits) 3322522936224.000000000007156

1000000000D0000000O00DsO0DO 1000000D00000000 interval OO cor [r]=p[r].upper() .f
obooooobooooobsboobooooobon

+ 1.*x~{5}

-64851834634135146.*x"{4}
+14538431 (18 digits) 17140208.*x"{3}
-13095054 (35 digits) 7576440.%x"{2}
+40439920 (49 digits) 86931440.*x"~{1}
-19426688 (65 digits) 2936224.*x~{0}

000000000O0p, O01700p, 03400p; 00 p; 0000500065008 0000 1500000
0000000000o0oDooDDoD0O00O0D00000000000000oNononononoonoooooDoDon

sO00t00s<t0000000000 s¢000000000000000D0000000 p;,00 p.00
0000000000000000000000 p; 0000400000082 42s243s2+4s2000000

k(k —1)s?
o0 k000 ——— 0bOoobooobooody,. 0 6. 00000000
—1)s2
ncru (41)
2
0000000000 0Ovietaterm O n—1 0000000000
chrw (42)
r=2

00000000 000O0Odvsrchl.cpp OOODOO0D0OO0OO0DOOODOODODOODOOODOOODO sO 8 OOO
0odoo00oDooooooooooooDo0oOooDo0ooooodoDdOn0d0OO00DOoO00oDOoooOoooon
0000000000000 oDo0o0oooo0o0o0oooo0oo0ooo0oooooooooooog
ooooooooon

00000 vietatermschk 000000000000 OO0O00OO% 1070000000vietatermschk [
000000000000000000 15000000022 0000000000000000000 1029
00000o0DO 2200000 1457002500000 1616002600000 1663000000
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“G 10”7 00O O#define FACTORIZEONLYD OO ODDOUOOn=900000 Hyys OOODOODOODODOO
gobooboobouboboboubobob230bobooboo 230D oooboobDoooboo
Joobobooooboooobboobo soo0booooboo bbb boooooD
JooooooobooooobobobbooobooooobobooooDbObooboo0D Mrooboooo
O00o0ooodg vietatermschk OO UOO 1560 0000000000000O0OOO0NO vietatermschk
gooobobobobooooooboboboooooooboobo

4.2 000

ocooooooooooooooooboo “r40b0f0obb0oobo0oooooooobooooDooooD
TO dvseech O0OOOOO00O0DODODOO tO 10000 10000000000sO02000 100000000
gooooooooOo0OO0O0O0O0OO0O0GOOOOOO0O0O0O000000O00ooo

4.2.1 sUOO0OUO0OOOO0OOOOO

“sm”000000000D00000000D000000 dvsrcheeppDOODDOOODOOOOOOOOOD
0000000 18000004000000000 mOO000000H, 0 m-20000000n=m20
00000 m?2-m+20200000000000

“s10”000 n=100000 AO Hs,Hpy O8O0 HOODOODUOOUOHy O0O0OODODO H OODO
000000000 40000000800 50000000004Cs =658,008 000000000
00066,9300036,98000018,0320005,6800006240000000Hs DDODODDOOO Hyy
0ooooooooooOo oooooobooo200 500000000000 4000000500000
000D00000% 11”7 00000000000000000 S000000000000D00D00O00DOO
Jdddddooooooooooooooooooboooboon o000 s 000000 Uogo
O O#define INTYDOUBLE O OO O OO vietatermschk OO OO OO OO22.700000 00 #define
FACTORIZEONLYO OO OO DO OOO26.3000000

“s11” 000 n=121000 AO0OHss, Hyp, His,H; 0 700 H, 0OOO0O0OO0H, 000000000
00 1002004000000000H,;0000000 H,O00OOOO0OOOOOOO 8000000
2001000 3002000000000H,, 0000000000 1002004000000000
000 30000000300 200060040000000003C,=43000000000000
1310001200000005,05 =2,0240 5,0, = 10,626 000000000000 15870007330
00383000630 000000Hs; 0000000000300 100700200600 40000
00000000 10000000200 1000200 2000400000000000000000
000000000000 00000400000000000000000000000 hoge 000
00 “grepii=hoge’ 10 0000000000000 OD0O000OOOOODO

xx~{2}
kx~{4}
x~{2}
kx~{2}
x~{2}
ii=131 Divisor = + 1.*xx~{2}
ii=12 Divisor = + 1.*x~{2}
ii=122 Divisor = + 1.*xx~{2}
1i=1587 Divisor = + 1.*x~{4}
1i=733 Divisor = + 1.*xx~{4}
+ 1.xx~{4}

ii=8 Divisor
ii=1 Divisor
ii=3 Divisor
ii=2 Divisor

T

ii=1 Divisor =

ononm
o+ o+ o+ o+ o+

1i=383 Divisor
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ii=63 Divisor = + 1.xx~{4}
ii=9 Divisor = 1.*xx~{4}
ii=1 Divisor = 1.*x~{4}
ii=12 Divisor = + 1.*x~{2}
+ 1.*x~{2}
+ 1.xx"{4}

+
+

ii=3 Divisor

ii=1 Divisor

4.2.2 GOOOOOOOOOOO
gboboobobooobooboooboobobooooobooonoo

“G9" 000HwOH;, 0300 H, 00000H;, 000000000000003200000000500900
1800000000000 03Cs=201,376 000000000 111,182 000000 2;Cs = 296,0100
27C7 = 888,0300 57Cs = 2,220,0750 97Cy = 4,686,825 00000000 2,264,208 000000 Hyp O
10000 (1-A\) 0 Hy, 0OOOOO0OO0OO0OO0 900000000 100A004004000000000
00000000000000000000000000000000000000000

“G10" D00 HOHysOHg 0300 H 000000 H,s020090000000000H,; 0000
O00O0OHs, 010000 (1-AN0O HisO2009000 HyyOODOODODDODOOD 10000O0OOO
0100 0040050000000000D0O0D0000O0DODODOCO 23000000000O00D000C0O0O0
O000000000000000000000 e =0.08284674618487071 DO D OO ODOOOOOO
oooooo 10-0ooo0o0o0on

0.082846746184871:
0.082846746267718
|

230000000000000000000 107¥00000000000000000

0.082846746184871131:
0.082846746184911584
|

#define FACTORIZEONLY D0 UOUOUOOOOH,s O 2000000000000 vietatermschk [
O00ooDobOoOoooooooooo20000ooooooooooooooooe8uoooonon

“G11”000HesOHpOHy O 300 b OOOOOOH, OOODOD0ODO0O0OH O 1400 28000000
O0He; 010000 (1—-XN)D0900014000200000000000 1100000000 20
O1000ooobooobogoobo400s50000boon

00 0O#define FACTORIZEONLY DO DO O0OOOH4, O 28000000000000 vietatermschk
ooobbbbooooobbbbooooouoobobD 923000040 d

oobooooobooobooobooobooobooboooboobooobooobooboobooobooobooOoooog
gboooboobuooboobobbobibOobOn vietatermschk DU OOO0
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5 U00ODO0O0O000U000ououoOoddd dvsrch2.cpp

200000000D000000 CcT2bOO0oO0O0OOO0O0OOOOO0ODOOOOOOODOOODODODOOOOO
ugbgobodobogboogoobobooooboboboobobuobooboboobobooboboonoo
goboooboobgooooboboboooboboooboboboboobobooboboboobobooo
goooOoOooooooOooO crpoiooooooooooooooooooooooooo1IOoooogn
OO0O00000000000D0Odvsrchl.epp OO00OOOO0D0D interval 0000000000 0OOODODOOO
ugbgobododgbooboobobooooboboboobobooboboboboooboboobobooon
O0o0oooboo0oooboboboooobD 100b00dvsreh2.cpp OO0 OD0OODOOOOODODODO

e JO0O0OO0OODOODOOODOODOOOODOODOOOODOOOOODOOOOODODOOOODODOO

e JI00O0IDOOODOODDOODOODDOOODDOODOODLDOUDOO40DOOSODOODOODOO
gobooboboooboobooooboboo

dvsrch2.cpp OO OCT2D OOO0ODO0OOOOOOOOOOOOOOODOO

giliogboobodbgoooobobooobobooobooboboobobobooboboobobobon
gbobooboooobooooboobooboooobooboobono 2000000 0bO0b0b0ObO0O0O0Og
obobooboooo3oooloboobooboo3stocobooboooboooooobooboboobooboboonb4000
gboobodobobooooboboboobobooooboboboobobooboboboobooboba
goooo

5.1 UO00O0OOobDOoOoOoOobbOboOo

Oo0oooooooooooooooooooooooo0ooooooooooooDoooooooooo
gooooboobbooooooogoooobobboooooooobbbooooooboboooog
oo oooobboddddooouboboboobboobbbbobooouOog
OO00000O0O00 C¢T2DO C program for Truss 2 Dimensional analysis0 00O O0O00CT2D O CcOO0OO
0000000000000 000000oo0oU0oooooooog |7, p. 68)0

0000 KOOODODO MO CI2bO000000000O0DO0OCI2DO00O0O0O0O00O0O0O0O00O0
000000000000 0000000OsolveSTATIC.cODOODOOO NormalMode.c DOODOOODONO
0000000000 NormalMode 00O massmat 0 00O NormalMode.c 0000000000 OO0OOO
0000000000 MOOODOODODOOOOODODODOOOOODODOOO0OoOoOoODOoOoOooOoOoDOoOoOooDooOooOgo
0000000000000 000D 1000000000000 000NormalMode O Oeigv.e DO0OOO
0 genamat 00 0O0000OOgenamat D n 0 00 KO MO A=S"'KS~'00000000000000
0000000000000 0000D000000D0Ojacobev 0D OODODOOOODOODOOODOOOOO
ooooo%o

000000000000 20000000 Mu(t)+Ku(t)=000000O00O0OO

w*Mu = Ku, (43)
000%0MO00000000MO00D0000000000000000 SO0000

A=ST'KS™! x=Su, (44)

68 jacobev O dvsrch.cpp 100000 jacob2 0000000000000 0D0O0O0DOO0DDODDOODDO
9000000 w(t) =wcoswt 0000000000000« 0000000000000
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0000000000000000 (7)) 00000070
00 dvsreh2.cpp 0000000 3000000000000000000000000 mattype O 00 10
2000000000000

e A=S"'KS$-'000000000000O0O0O0OOOOmattype = 000
e A=K OODODODOODDODO Onattype = 100

e KO MODODODODOOOOOOA=M'KOOOOOOOUOUOmattype =200

5.1.1 DOO00OO00OOoO0obOOobDbOOobDO

0000 CT2Dbnorm 0000000000000 00D0O00O0O0O trusgenorm.f OO O 70 gfortran 0 O
000000 nxUOnyD 2000000000 130000000000000000 S18Freedat 00002
000000 “gee-¢ *.¢” O “gee-lm *0” 00000 aexe 0000000S13freetxt 0000000000
000 CT2D 000000000 Clientmain.c 0000000000000 DOOO0ODOOOOOOOO
OO000000OClientmaine 0000000000

IEEED0O0O0OOO0OO0O0O0O0000000 “%25.17le> 000 0000000000000 0O00O0O1I0000 17
OUO0O0DO0O0OOOIEEEO0DOOOODOOOOOOOODOOO [10)J0CT2D 0 eigv.e O genamat D00 000

void genamat(double * mvec, double *b, double *a, int n, int nb, FILE *fp_mat){
int i, j, ji;
double scal;
for(j = 0; j <n ; j+H){
for(i = 0; i < n; i++) alj*n+i]=0;
}
for(j = 1; j <= n ; j++){
j1=MAX(j-nb+1,1);
for(i=j1; i<=j; i++) al(j-1)*n+i-1]=b[j*nb-j+i-1];
}
/**x f£ill lower portion by transpose  **x*/
for(j = 0; j <n ; j+H){
for(i=j+1; i<n; i++) alj*n+i] = ali*n+j];
}
/**x file output n and K matrix x*x/
fprintf (fp_mat,"%d\n",n);
for(i=0; i<n; i++){
for (j=0; j<m; j++){
if (a[nxj+i] !'= 0){;
fprintf (fp_mat," %d",i);
fprintf (fp_mat," %d",j);
fprintf (fp_mat,"%25.171e\n" ,a[n*j+il);
}r o}
/*** file output M matrix **x/
for (j=0; j<mn; j++) fprintf(fp_mat,"%25.171le",mvec[j]l);
fprintf (fp_mat,"\n");
for(j = 0; j <n ; j+H){
scal = 1.0 / sqrt(mvec[jl);
for(i=0; i<n; i++){
alj*n+i] = scal * al[j*n+il]; ali*n+j] = scal * ali*n+j];
} o
/*** file output A matrix **x/
for(i=0; i<n; i++){
for (j=0; j<n; j++){

M =520000Ku=ASSw 0000 S7'0000 ST'KS™H(Su)=ASu)0000 =S« 00000000000
N — N~ ~—
€T

A x
Az =Xz 000000
0pD000000000000000000000000 20 7070 12000000000 60 7070 800 200000000
gooooooooosooO0o0o0ooOoOoOoO0ooO0O00bOOoO0OO00O0OO0OO0O0O0O00000
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if (a[n*xj+i]l = 0){;
fprintf(fp_mat," %d",i);
fprintf(fp_mat," %d",j);
fprintf (fp_mat,"%25.171e\n",a[n*j+il);
}rr}

OoO0OO0O0O0O0O0O0O0O0D00O0O S13Freetxt DO OO

5.1.2 DOO000O0O0OOO0OOODOOODOO

o000 Cc++000000000ooooooo0 n0oooog

- dvsrch2.cpp 0 CT2D 00000 nOO0ODO ~
strcpy(matfile,matname); // required #include <string.h>
strcat (matfile, ".txt");
cout << "Reading CT2D output matfile =" << matfile << endl;
fin.open(matfile);
if (!fin){

cout << "cannot open input file\n";
exit (EXIT_FAILURE);

}

fin >> n;

std::cout << "dvsrch2 n=" << n << std::endl;

N J
nxn020000000000

dvsrch2.cpp OO0 ODOOOOOO
[ matrix<double> a(n,n); ]

10000 kxaOmaDaa O CO 10000000D0OCOOOO0OODODODOOOOOOOODODOOOOOOO
gbobooboobobooobobooooboobooooon

[Fkxkkxckkkxkkkk*k  read matrix from file made by CT2D program sk skkksksikskskkk/
matrix<double> ak(n,n);
rational_matrix kar(n+1,n+1);
ka = new double[n*n];
ma = new double[n];
aa = new double[n#*n];
for (j=0; j<n; j++){
for (i=0; i<n; i++){ aal[j*n+i] = 0; ka[j*n+i] = 0; }
maljl = 0;
}
std::cout << " Now read file=" << matfile << std::endl;
for (53501
fin >> i; fin >> j; fin >> tmp;
ka[n*j+i]l=tmp;
if (i==n-1 && j==n-1) break;
}
for (j=0; j<n; j++){
fin >> tmp;
ma[jl=tmp;
}
for (;){
fin >> i; fin >> j; fin >> tmp;
aa[n*j+i]=tmp;
if (i==n-1 && j==n-1) break;
}
fin.close();
std::cout << "dvsrch2 read file end" << " n*n=" << n*n << std::endl;

1oo0ooboz200000000
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dvsrch2.cpp ODOODOOODOO0O

/*x*x*xx*% format conversion from C type one dimensional array to matrix format *kkkskxkkx/
for (j=0; j < n; ++j) {
for (i=0; i < n; ++i){ alil[j] = aalj*n+il; }

}

0000000000000 Odvsech2000000000AD KO M- 'KOOODOODOODO
s dvsrch2.cpp OO0 OO OO0 ~

/**¥xkkkkx%kx*%  convert matrix from double to rational *kkkkkikxkkkkkkx/
cout << "matk=" << matk << " mattype=" << mattype << endl;
printf ("mattype=%x\n",mattype) ;
printf ("matk=%s\n",matk) ;
if (mattype == 2){ //MinvK

cout << " MinvK selected for A matrix" << endl;
for (j=0; j < m; ++j) {
for (i=0; i < n; ++i){ ak[i]l[j] = kal[j*n+il; 3}
}
cnvmat (ak,kar,n,n); // kar(n,n) <-- K matrix rational
for (i=0; i < n; ++i) {
rational mforinv = Rdset(&mal[il);
for (j=0; j < mn; ++j){ hlil[j] = kar[il[j] / mforinv; }
} // h(n,n) <-- M"{-1}K matrix rational
}else if(mattype == 1){
cout << " K selected for A matrix" << endl;
for (j=0; j < m; ++j) {
for (i=0; i < n; ++i){ alil[j] = kal[j*n+il; }

}
cnvmat(a,h,n,n); // h(n,n) <-- K matrix rational
Yelsed{
cout << " SinvKSinv selected for A matrix" << endl;
cnvmat (a,h,n,n); // h(n,n) <-- S"{-1}KS"{-1} matrix rational

}

cout << n << "x" << n << " A matrix" << endl;

J
goboooboooboooooboooobOoobooboooboooooboooooooboooboooobooooooon

5.2 U0boooobooboboood

CT2bO00000D0DOO0Odvsrchl.cpp 0000000000 DOODOOOO0ODOODOOODOODOOOOODOOO
O000000O00O0ODOD0O0000 MatDgtCount 000 ODODOOODOOOOOO2400000000000
oo0D “G9’0 73“G10°0 9200000000000 000000D0D0000O00O00OODOOOOOOOO
000000000000000000000000000000000000 S13freetxt 000005 PKS™!
0000 S13freeA.chk OO K 0000 S13freeK.chk OO0 M 'K 0000 S13freeMinvK.chk 0000

if (chkres==0){
rblas::elmhes(ar,n); /***  ELMHES sskskkskskikskorkskskrkskkkk/
/] —=—== checkpoint H
std::stringstream ofn;
if (mattype==0){
ofn << matname << "A" << ".chk";
}else if (mattype==1){
ofn << matname << "K" << ".chk";
Yelsed{
ofn << matname << "MinvK" << ".chk";

}
ofs.open(ofn.str().c_str(),std::fstream: :trunc);
if (lofs) {
throw std::runtime_error("Write open failed for " + ofn.str());
}
oa << ar;
Yelsed{ // read H from checkpoint file
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std::stringstream ifn;
if (mattype==0){
ifn << matname << "A" << ".chk";
}else if (mattype==1){
ifn << matname << "K" << ".chk";
Yelsed{
ifn << matname << "MinvK" << ".chk";
}
ifs.open(ifn.str().c_str(),std::ofstream::in);
if (1ifs) {
throw std::runtime_error("Read open failed for " + ifn.str());
}
ia >> ar;
std::cout << "Read Hessenberg matrix from checkpoint file" << std::endl;

gbooobobooobooobooboooobooooboooobooooboooobooobooboboooDn
000000000000000000000 Si3freetxt 00000S KS~1 0000 S13freeA2.chk 00K
0000 Si3freeK2.chk OOM-'K 0000 Sl3freeMinvK2.chk 00000000000 00000O0O00O0
gbobooboboobooboooobobooooobooooboobooooboboooooboooon tar
000000 S13freeA2.chkd S13freeO3A2.chk 00O O OO0

OO0 chkres 0 00 10 200000000001 0000 AOOOOOOOOOOOOOOOOOODOAO
gobooobooooooobooooooooooobo20b00b0 FODODOODOOODOOODOODOODOODOO
gboboobOobooooboboooobobooooobo

5.3 Uoooono

1000000000000000000000000000000000000000000000000
000000000000000000000000 e=10"°0000000selectevd000 (a,b) 0 200
000000 f(a)f()) >0000000000000000000 f(e)0 (b)) 000000000000
f(x)00000000000000000200000000000002000000000 ¢c000000
00 (a,b) O f(a)f(c) <00 f(e)f(h) <0O000000 (a,¢) 0 (¢,b) 00000003000000000
00 f"(e) 0 f(b) 000000000000020000 f/(z) 0000000000000000000
000000000000 2000000000020000000000000
00000000000000000000000000000000000000 n0000000000
00000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
0000000000000000000

5.3.1 OO00O0OO0OO0ODOODOOO200000

10000000000 000000000 DbO00b0O000D0O0000 chkineD OO countinc
0000000000000 OchkineO000O0O0OOOO0OOOOOOOODOODOOOODOODODODOODODOOOO
00000000000 melt[il 00270000 3.100000000000000000000O0 selectev
gooooOoOoOo0O0o0O0o000o0oooooo0 10000000 amOOOO0OOOOOOOOdvsrch2.cpp O
O selectev0 0000000 0OO0countine0000O00DOONO eigvl[i] O eigvh([i]l] OODOOOODOO
0000000000000 00000000000 vtemp 00000 atemp 000D OOOO0OOOOOO
OO000000000D00 nexist 0000000 DOOOOOO0O0ODOOOOOODODOODOOOOODODOOOO
gooooooOoOoOoOOOOOOOOOOOOOOOOOOO
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s dvsrch2.cpp OO 00000000 OOO0ODOO N

nexist=0;
for(i=1; i<=ngrpl;i++){
rational tempa,tempb;
int idummy, nmult, maxit = 53;
double eigvli=eigvl[i], eigvhi=eigvh[i];
if (fabs((eigvliteigvhi)/am) < eps){ // eigenvalue close to zero

if (eigvli*eigvhi <= 0){ // 0000000000000O0
eigvli=eigvli*2; eigvhi=eigvhi*2; oobooo 200

Yelse{ // 000000
eigvli=eigvli-fabs(eigvli)*2; oooooooooobo 20000
eigvhi=eigvhi+fabs(eigvhi)*2; oooooooooo 200000

}

}
idummy = chkinc(nsize,p,eigvli,eigvhi,mult[i],am,tempa,tempb);
nmult = countinc(nsize,p,tempa,tempb,mult[i],epsint,maxit,abtemp);
for(j=0; j<nmult; j++){
nexist ++; eigint[nexist]=abtemp[j]; included[nexist]=1;
eigvr[nexist]=(abtemp[j].lower()+abtemp[j].upper())/rational::TWO;
}
}

std::cout << std::endl << "}FOUND " << nexist << " intervals. nsize=" << nsize << std::endl;

J
countinc 0000000000000 D0000000O00000O0000000 2000000 mult==100
0000 «0 00000 f(a)O fB)DODO f(a)0 f£(H)DOO0 f(a) 0 f7(b) 0 Hornera 00000 OO
06000000 (¢,b) 0 20000000000007™000000000000000000000

f@)fb) >0 ———  f(a1)f(b1) <0 (a)f(b) <0 (a1)f(b1) <0
f'@)f'(b) < f'(@)f' () <0 (a)f'(b) >0 —— f'(a1)f'(b1) <0
f(a)f"(b) <0 f"(a)f"(b1) <0

| S/ ]\ St |////

|
q’wbl b e ‘;l}—\bz/b
|

0 6: bisect2 D00 (a,b) 00 (ay,b) 000000000 bisect3 000 (a,b) 00 (a1,by) 00000000

000000 milt=1 000002000000000000000000 f(a)f®)>000 f'(a)f (b) <00
0200000000000000f(z) 0000000000 bisect200000000000000000
ooo
- comntine 0 00000000000000000000000000 ~

if (fa*xfb > rational::ZERO && fdax*fdb <= rational::ZER0){
rtnval = bisect2(p,n,maxit+100,a,fa,fda,b,fb,fdb);
if (rtnval<=0) {
cout << "countinc return From bisect2 rtnval=" << rtnval << " return rtnval" << endl;
return rtnval;
}
}
N\ J
bisectQDDDD(a,b)DD QDDDDDDf’(x)D (a,b)l]l] 1000dobdoo 20000000000 ao
doodobobooooboboooooboooboooooobo oo oo b0 ooooooooog

Fla)f'(by) <0000 fla)f(h) <0O00D00000 bisect2 000000000

20000000 PostScript 00000000000 00000 “xxmulxsub” 00000000000 2 -z 00000000
1 1
000 “xx x mul mul 3 divx xmul 2divsub 0.05add” 00000000000 §x3—5x2+0.05DDDD
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goboooooboooooboooooooboooobooooobooooboooobooobooobbboooboooo
bisect UOUODODOOOO0OODOODOODO1I0000O00O0O0O00C0CO0OO0OO0DOOOOOOOOOOODODOO
000000000000 0000o000O0e,a) 0 [by,0)0000 10000000002000000000
bisect20 0000000 600000 200000000000000000000000000O000DOAO
gooooboobooooboboobooogooboo

5.3.2 0OO000OO0OO0ODOODOO3ODOOOOO

06000000 (e,b) 0 3000000000000000000000000000000000000
0000 mlt=2 000003000000000000000000f/(a)f/(b)>000 f(a)f"(b) <000
00 bisect30 0000000 f/(z) 0000000 0bisect3000000000000000000000
0000000000000000000000000

countinc 000 bisect3 0000 (¢,b) 0000000000 0000000000000 (ay,by) 000
000000 f(e) O f(b) 00000000 (+,+)0(+,—)0(—+D0(-,—) 0400000000000
0000 f(o)>0000000000f(e)<00000000000000000000000000000
0000000000000 f(@)<0000000000000000000000 f(a), f(a1), f(b1), f(b)
000000000300000000100000030000000000000000

(+7_,+7_) ooo uvg Sign(f(a)7f(al)af(bl)af(b)>:(+?_a+a_> goboodoodoooodooo
good

0 7: bisect3 000 (ag,by) OO0 sign(f(a), f(ar), f(br), f(B) = (+,—,+, —)

00000000 (a,0,) 00000000000 30000 (a,a1)0 (a1,b1)0 (by,b) 000000000
00000000000000000000000000

(+,—,—,—) 000 D0D00000000O0000f"(c)=0000 f(¢)<0000000000000000
00000 (a,b) 000000000000008000000008000000 (ay,b) 0200000

(+,—,——) bisect2(b1, b) (+,—,——) bisect2(a1, b1)
N | :l | N | : |1
a a1 1 \ a\_a/ \\b
O 8: bisect3 DO O (a1,b1) 00O sign(f(a), f(a1), f(b1), f(b) = (+,—,—,—) 0 2000

002000000000 f(k) 0000000 f(e) 00000000000/ (k) >000000
bisect2(by,b) D000 1000000 (ag,by) 0000000 (ag,0,) 00000 200000000 20
000 (a,b) 00000000000 f(b1) <000000bisect2(ar,by) 0000 1000000 (ag,bs)
0000000000000 200000(ay,b,) 000000000000000000000000001
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0000 (a,e) 000000000000 Obisect30 000000 (a3,b1) 0000 bisect200000 2
O000000000000000O0(ag,be) 0 20000000 0D0000000 2000000

(+,+,+4,-) 000 (+,-,—,—) 00000000000 18° 00000 (+,+,4,—) 000000000
00000000000000000000000000000000000 (a,b,) 00000000000
0009000000009000000 (a,b;) 0200000

(+,+,+,—) bisect2(a, a1) (+,+,+,—) bisect2(a1, b1)
N ] N N //|\ l
a ai b1 b aay by b

—— —
- -

0 9: bisect3 OO0 (ay,by) 000 sign(f(a), f(ar), f(b1), (b)) = (+,+,+,—) 0 2000

0020000 f(b)00000000bisect2(a,a;) 000 (ay,0) 0000 1000000000000
000000000 (+,—,—,—)00000000i#f00000000 2000000

(+,+,—,—) 000 0100000000000 (a,b) 0010000000200 (h,b) 0000000

++—--) bisect2 (b1, b) (+, 4+, —, =)

0 10: bisect3 OO0 (ay,b1) 00O sign(f(a), f(ar), f(b1), f(b)) = (+,+,—,—) D000

00000 bisect2(by,b) 00 00000000000000006 000000000000000000
000000000000000000000000000000000 (a,b,)00000003000000
00000000000000000000000f(z)0 o 00000000000 10000000000
0000000 f(a)<00D0000000000000000 (ay,b) 00k O f(z)>00000000
00000000000000 %, 0000000000000000000000000000000000
00(+,—,—,—) 0000000 bisect30000000 (a,b) 0000 2000000000000000
0Oooooooo

countinc 0 if 000000 0000000000 f(o)>00000000000000f(a) <0000
00000000000000000000 (+,—,+,—) 0000000000000 (+,—,+,—) 000
(-,+,—,+)00000000000000000000000000000 f00000000000000
000000000000 200000000 alal0 y0fall f(e;) 00000000000 00000
000000000000000000000
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s countine0 00 3000000000 000000 ™

if ((faO>rational::ZERO && fal<rational::ZERO && fbi>rational::ZERO) ||
(faO<rational::ZERO && fal>rational::ZERO && fbl<rational::ZER0)){
// sign(fa0,fal,fbl,fb0)=(+ - + =) || sign(fa0,fal,fbl,fb0)=(- + - +) 00 D0000
}else if ((faO>rational::ZERO && fal>rational::ZERO && fbl<rational::ZERO) ||
(faO<rational::ZERO && fal<rational::ZERQ && fbi>rational::ZER0)){
// sign(fa0,fal,fbl,fb0)=(+ + - =) || sign(fa0,fal,fbl,fb0)=(- - + +) 000000
Yelse if((faO>rational::ZERO && fal<rational::ZERO && fbl<rational::ZERO) ||
(faO<rational::ZERO && fal>rational::ZERO && fbi>rational::ZERO)){
// sign(fa0,fal,fbl,fb0)=(+ - - =) || sign(fa0,fal,fbl,fb0)=(- + + +) 0OOOO0O
Yelsed{
// sign(fa0,fal,fbl,fb0)=(+ + + =) || sign(fa0,fal,fbl,fb0)=(- - - +) OO O0O0OO

}

N J
countincJO00 mult=2000000000000300000000000000000000000O00OO
0000000000000000000000000000000000000000D0 (e,b) 00000
OO00302010o00000000000000000D fO0000ODO00O0DOO0O0O0ODOO

e countinc 0 00 mult==2 0000 if000000O ™

if (fa*xfb > rational::ZER0){ // three roots do not exist, but two may exist.
if (fda*fdb < rational::ZERO && fa*fda < rational::ZER0O){ // two roots may exist.
// two roots
}
Yelse{
if ( fdda*fddb > rational::ZER0){ // cannot call bisect3
// one root
Yelse{
// three roots
}
. y

00 faO f(a)OfdaO f/(a)0fddad f”(a) 00000 Horner30 000000000 0000003000
000000 i#000000000// three roots0 0000000
00000 milt==2 0000 f0000000000000000 mult==10 mult==00 f 00000000

5.3.3 ODO0O0OO0O0OO0OO0ODOOOOOOOOOOO

gboboobooooooooooooooboooooo1bobobobOoboboboboboboboOn
OO0000 3000000000000 2000000OO000O0ooOoOO00 Ccr2bo32000000 “-03” 0
oboooooooboooooooboobob 1300041000 2000000000000DO0O00ODOOO
OO00000000o0O0o0DoboOob0obo0oO0320000 Cygwin UOO0640000 Cygwin 00640000
Lnx 000000000 DOO0O0DOO0O0O0O0DOO0O0DOO00O0O0O00DOO0O0O000O00000O00000DbO
gooooooooooogoboooboooooooobogbooooooooobooboboobboooooooo
goboooobooobooboooooooboooooboboobooobobooboobooobooooooog
oboooooboooooobooon

011 00001B0000000000320000 CygwinO0OOOOOOOO (a,b) 0030000000
0000410000000000320000 CygwinO0OOOOOOOO (a,b) 003000000130000
0000000 26x26000 A=S"'KS-'0000D00O0O0Odvsrch200000000002600000
000000000000 Meg=58x101600004100000000000 82x8 0000000082
00000000000000000 MAe=60x100000000000000000000000000
300000000000000000000000000000 101%00000000000000000
Ul1lob2000000300 1000000000000O0000000O0O0O0O3000O00O00O00O0O0
oboooobooboooooboooooboobooooob 3ooooooooooobon
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A = —352--- Ao =—2.34--. A1 =—0.05--- =0.17---
A3 — A2 =6x 10717 Ao — A =4x 10717
I N I I \\ I
BN ' [\
a=—171--- b=023--- a=—0.61--- b=6.45---

0 11: 300000000041 00000000030000

Or70013000000000000000O00O0OOOOO0O0 3000000000000000 (a,b)O
00000 sign(f(a), f(ar), f(br), £(b)) DO OO OO0 sign(f'(a), f'(ar), f/(b1), f/(b)) DO ODODO 80041
gooobobobbooooobooboobooo

goboooboobobooboooboo bbb bbbooboobbooouboob o
0000000 0000o0o000oDoOo 8041000000000 32000 CygwinOOOODO30000
oooobobooobobooboboooobOobDoobOobDOoobobDoOobooboobobDooboOoo
ogooboboboboobobooooobobooobUobelODb0bOooDobUoboboooDooDooboo
gooooooboboobbooooobboodob 2000bboobboobbbooUbbOo 20000 O
googooogo

000000000000 0000chkineOODOODDOODOOOD amOOOO0ODOOODO eps000O00OOO
goobboooobooobboooobbooooboooobbboo 20bboonbbooUobL b D
goooooo

07 13000000000000000O0(e,p)00000000000

32000 Cygwin | 64 000 Cygwin Linux
ooooo —4.1 ~ 0.57 —-32~34 —5.7~ —0.23
a~b —8.2~1.14 —6.4~6.8 —17.1 ~ 0.23
sign(f(a), f(a1), f(b1), f(b)) +, 4, = — +, == +, ==
sign(f’(a), f'(a1), f'(b1), £'(b)) -t — == -
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08 41000000000000000DO(e,p)0000000O0OOO

32000 Cygwin | 64 000 Cygwin Linux
gooono 0.61 ~ 2.15 —7.1~3.04 —2.67~ 3.3
a~b —0.61 ~ 6.45 —14.25 ~ 6.08 —5.35 ~ 6.6
sign(f(a), f(a1), f(b1), (b)) +, 4,4+, - +, 4, +, - +, 4, +, =
sign(f'(a), f'(a1), f'(b1), /(b)) -t — =t — =t
s chkinc OO N

int chkinc(const int n, const rational_vector& p, const double e, const double h, const int mult,
const double am, rational& a, rational& b) {
double ta,tb;
int rtnval=0;
rational fa,fb;

if (fabs(e/am) > eps){
ta=e-fabs(e)*eps; tb=h+fabs(h)*eps;
if (mult==0) tb=e+fabs(e)*eps;

a = Rdset(&ta); fa=Horner(n,p,a);
b = Rdset(&tb); fb=Horner(n,p,b);
if (faxfb<rational::ZERO) rtnval=1;

Yelse{ gooooooo
ta=e-eps; tb=h+eps; // consider eigenvalues close to zero
if (mult==0) tb=e+eps;

a = Rdset(&ta); fa=Horner(n,p,a);
b = Rdset(&tb); fb=Horner(n,p,b);
if (faxfb<rational::ZER0){

rtnval=1;
Yelsed{ oooooobooo
if (mult>0){
ta=2xta; tb=2xtb; goooobooobgoooo

a = Rdset(&ta); fa=Horner(n,p,a);
b = Rdset(&tb); fb=Horner(n,p,b);
std::cout << "chkink interval inflation ta=" << ta << " fa=" << (double)fa << " tb=" << tb << " fbE" << (doub
if (faxfb<rational::ZERO) rtnval=1;
}
}
}
return rtnval;

}

NI J
2000000000DO0bOO0O0O0O0O0ObOO0ObOOOOODOoDbOO3b0obO0OOO0OobOO0obOOobObOOOOoDOoD
gobobooobobobooboboooobobooooboobooboboobobobooboboon
OOrobuatD 00000000 DDOOOODOOOO

obob0o01l100b000ooooboooooboooboooooooboooboboobobooboobooooon
ugbgobodobgboogbobobooboboobobuobooobobobooboboobobobooo
gobooboooboobooobooboooboobbooboobooboboobooobbooboo
goboooobooobooboooooooboobooboobooboooobooooboOoooooog
ooooooooo

5.3.4 0O0O0OOO

200 bisect UOODOOOOODNO bisectrf IO UOOODOODOOODOO#define BISECTHO OO DOODOO
gboooboobooboooboboobo
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012 00000

0000000000000000002000000000004= %=/
f(b) = f(a)

OO0 d0O000000020000000000000 bisectrf OO0UOOOODO roundrat O OO0 200
0000000000 DLongintRational.pdf 00000000

gbooo 0000

5.3.5 00000 dvsrchl.cpp DOODODOOO

dvsrchl DOD0O0D (38) 000000000000 D0O0O0O0DO0O0OO0OO0OODOOOODO0OUOOOOO
dvsrchl1 DOOOO0OOOO

log2ev=log2(eigvl[i])+1; // 0000000000000 00ooDoooOoD
int reqndeig=((int)log2ev+2)*d+accdouble; // 0O OO 0OOOO
int niteration=reqndeig-mxitr[i];

0
double dzero=0;
bisect(p,nsize,dzero,niteration,eiglow[i],faeig,eigup[i],fbeig,ceig);

nO0O000000000O000O00 nO0O0O0OOOOOD 12000000000DOO00DOODOODOODO
gobooooboooboobooobooobooobooooobooboobooooboobboOoooooog
gboooooboooooboobobobobooooooboobobo nDOOOOOOOOOOO n=20000
n+=20000000000000000000 nOO0D0OO0O0OO0ODOOODOOOOODOOOODOOOODO
goooobooooooboobooooooon
gbobooooboobobooooooboobobooooooboobo 1200b00000000O00O000O0
oobod n+20000000000000000O000O000O0O0OO0OOODOOOOOOOOOOO
goboooooboooboooooooooooboooooooboooboooooboobooboooOoooo
oboobooboooboobooooobooobooboooooooboobooooooOoooooog
Oooooooooo0o0ooooooooobo0ooooDobobo0ooO0n0 dvseechl DOOOOOOOO
OoO0ooooooDoO dvseech2 0000000O0DOOCOO0OOOO0OOODOOOOOOOOODDOODOOOO
evlarge 0000000000000 0OOODO0OO ®UOODODOODDOODOOoOooOOO
dvsrch2 OO OOOD0OOOOO bisect IO OO

log2ev=log2(evlarge)+1; // 00000000000000D0DO0O0ODOO
reqndeig=((int)log2ev+2)*d+accdouble; // 0O OOOO0DOOO

double stmp=pow(2,log2ev*d); // 0000000000000000O00O0O0O000DOO0OO0
double epstmp=1/stmp; // 00000000000

O
int irtn=bisect(p,nsize,epstmp,reqndeig,eigint[i],faeig,fbeig,eigvr[il);

0000000 A00000 27 0000000002000000000000000000000000
googod

67



013 130000000000000

5.3.6 0000 dvsrchl.cpp 0000000

gboooobdbooboobDobobbooboobOobobbOselectevO 0000000 ooooOonOO
OO00oOo0o0ooO0ooooo0oDbo00DO0dl am00000 chkineOODOOOODODOOdvsrchl O
OO00oOo0oo010000oo000ooo0obooo0gdbOdvsrch20001000000D00O000O0O0DOOOO
gboooooboooobobooobooboooo

Oo00000O00O0OOdvsechl 00000000000 Odvsrch200000000000000D0O diff O
gbooobooboooooboobooooboobooobooboo10bo0ooooboboooooon

54 UO0O0OOO0OODOOO

gooooooodorLecMOopDoodoOoOoooooOgooooooOoooooooooooooDOooooDon
ooooooooooo 1bo0o00ooOob0oooo0oooboooOoooOooOooobooOoooDbooooDoOAa
000 AD0O0D0DO0O0OU0O0O0O0OO0OO0A- N O000OO000O0D0O0O0O000OO0O0O0O (A-XHz=000000
OO000000000D0000 ratutil 00000 solmg OO0O0O0D0O0O0O

5.5 0UO0OU

ooooO0oO0000O00000000000o0ooooooooDODDnD “0S18Free 0 DO OOO“0OO
oooooooorogoooobooooboo0obooooooboooooooboooooooDobooOd
goboooboboioboooboooooooooooboooboooooooboo2000b000000DbObODOO
Oo00000oooo0ooooooooooo0oOoogs20ooooooo cr2boooooooooogg
000000 “txx"000000000300000000000000000000001020087'KS~10
KOM-'K0DOOOOOODOOOOODOOOOOOO0OO0O0OO0O0O0000000000000 52000

BOOOOO0OODOOOOO000D0O0 S13Freetxt 000000000 B3000000O0DOO0O00OOOODO
O000bo0oobo0ooDoooonooonDoonD q=X=15042... 0000000000DO00O0O0OOO
gbobooboossbboobooooboobooboobooboooobooboobo 200000006000
ooboooboooobooobooboobOobooobooooooo 3oboooooboobooooOoooooog
gobooboooooooooooobooooypooboooobooo3obooboooooobboobobooDboboOoD
cr2booooooooooooooooooooooooooooooboooooooooooboOoooo
goboooboobooooobooboobobooooboooooboooboOoooobooboooboOooonog
ooboooooboooboooboooboobobooobobooboooooboooobooobooooOoooOoooog
gooooooooooboooooboooooboobooooboooobobooboobDobobooboooDooo
gobooobooobooobooboooboobooboooobooooooboobooobooooooboooboOooog
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09 S130000000

group 1 A oo 3000
1 1,2,3 | 0. —0.00...007, —0.00...006, 0.00...003 | —1.6150F — 16, —1.5117E — 16
2 4,5 | 1.554... 1.55...331, 1.55...335 1.55421534213563386560
3 6 1.776 . .. 1.77640027632889171915
4 7 2.175. .. 2.17495713431908715053
5 8 2.955... 2.95518450014503430978
6 9,10 | 3.380... 3.38...410, 3.38...446 3.38026893907544201597
7 11 3.456. .. 3.45573401676622660333
8 12,13 | 4.488... 4.48...162, 4.48...189 4.48755519945811977008
9 14 4.753 ... 4.75318573732433953243
10 15 5.045. .. 5.04481549985496435795
11 16 6.139... 6.13854338429956082551
12 17,18 | 8.161... 8.16...960, 8.16...978 8.16130634735060237338
13 19,20 | 10.71... 10.7...541, 10.7...648 10.70846185912325619640
14 21 10.87. .. 10.86985836553587454288
15 22 11.25... 11.24681426267565644372
16 23 11.68... 11.67871248279866691460
17 24 12.26. .. 12.26431833879140533122
18 25,26 | 12.93... 12.9...590, 12.9...767 12.93226981213176417701

Uo000b0O0OD0eviargeD OO OODO0ODOODODOODOOODOOODOODOOOOODOOODOODOODODODOO
gobl1oooboooooboobooboooobooobooooboooboobooobooooooog
gb400008000000DO0O00OOO0OO0OOOOOOOOODOOOOOOOOOOObOOObOOnOO
oood

5.5.1 O00OO00DOOOOOD Cr2D 0000000

0D0000000000000000000000000 10000000LCM O 4,503,599,627,370,496= 252
000000000000000000000A, 00000000000000 A5 = 22719829205299720 O
0000000 H, 000000000000 -A+A;0000

"Sub Matrix 2" 00 0000000000000 H, 0000 “FOUND 9 intervals. nsize=9” 0000 O
00100000000000000000000000000000000000002400000000
(—0.72695829, —0.72695820) 000 0D0OO0O0O0O0O0O0O0OOOO0O0OOOO0O0000000 100200000
000 1000000000001000000000000

2000000000000000000900000000000000 400 7x10°% 000000
00000000000000000000

eig=[ -0.72695826351001392823598353775519177966215988907840:
-0.72695826351001392823598353775519170679139841389762]
I

gboooooD formatprn OO OOOO0O0OO0OO
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0 10: 00oboooooboooobobn

i value LcMoOooooooooooad Hy | Hig

Ao, A3 A +0.00- - - (—1.513466502033021, 4.344940969805278) 7 7,3
A4 A5 1.554--- (6999563635695548, 6999563635695552) 7
6 1.776 - - - 8000195622535650 3
A7 2.175--- 9795136139666244 2
A 2.955- - 1.330896781366425¢+16 1
Ag Ao 3.380- - - (1.52233779344322e+16, 1.522337793443223e+16) 7 7
A1 3.456 - - - 1.556324243019992¢e+16 2
A2 Ais 4488 | (2.02101519240841e+16, 2.021015192408413¢+16) | 7 | 7
A4 4.753 - - - 2.140644551543668e+16 3
A5 | 5.045--- 2.271982920529966e+16
A6 6.139- - - 2.764554169812914e+16 3
A7 A1s 8.161--- (3.675525622478457¢+16, 3.675525622478465¢+16) 7 7
A9 A20 10.71--- (4.822662483845869¢e+16, 4.822662483845872e+16) 7 7
Aot 10.87--- 4.895349008459746e+16 2
A9 11.25--- 5.065114852249124e+16 3
A23 11.68--- 5.25962451856991e+16 2
Aoy 12.26 - - - 5.523357950053409e+16 3
A5 Aog 12.93--- (5.824176550697125e+16, 5.824176550697141e+16) 7 7
Hyg Hy H;
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std::cout << "eig="; formatprn(eigint[i]);

000000200 A% — 58748626224263676\ 4 479506099890433391927153378920472 00 00D OO 7
000000020000 100 M0 X 00000000000
30000000000000000 107°2 000000300000000000000000000 0.1
0oOoooooo
0000400500600000000000000000000000000000000O000O000O000O00
000070000000000000000 1072 00000070000

- -1.%x77
+ 185656740064426520.%x"6
-13355185 (20 digits) 9311196.%x75
+47021772 (35 digits) 58533088.*x"4
-84245215 (52 digits) 1060672.%*x"3
+71844297 (67 digits) 97565184.%x"2
-22232711 (84 digits) 2703744.xx"1
-16162253 (84 digits) 6976128.%*x°0

09000000000000000000000000000000000007000 700000007
000000000000000 10000000 90000000000000000 107200000
oo0o0obodb0H, OOooboooooooooooboo

(A2 4+ ar X+ ag) (A" 4 bgA° + - + bg) (45)

a10 a0 A O X\ 0000000000by 00 bg 0 MO0 o0 Ms0 M0 A0 X\ 00000000
000
HO0OODDOOOOOOOOO0O 45)0 700 (AT4+b6MA+---+b) 0000009000007™00
O0H, 000000 70000000000000070000000000000000000CO000OC
0000000000 (-A"+---)20000000009000 100 = 13308967813664242 — A 00000
O00X00000 A 00000000000 80002000 20030000000000000H;;00
0000000000 000000

AT+ bA% 4 4 b)) (A = Ag) (A2 + 1 d + o) (NP 4 dad? + di A + do) (A3 4 ead? + e1 A + ep) (46)

c10 o0 MO XN 0000000000dy 00 do 0 AMOA4ON, 0000000000 e 00 €0
MO M0y 00000000000
H,O0ODODOODOOODOO200000000000000 HyO HgO700000000000002
0D000000000000000 M0 M 00000000 30000000000000000000
000000000000 100000 20000000000000000H,¢0 2003000000000
300000000 8000000

0D00000000000000000000000 1071220000000000 17000000000
1400000000000000000000000000000 80000000000

55.2 A=K OOOOOOO

goooboooooobooooobobo1obobbooooobooooooobooooooooboOooooobon
goboobooooooobooboboooboooobooooobooooooob 1nobooooobooooooo

7870000 -1 0000000000000000000000000000000000000000000
00 900000000000000000 1000000000000
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011 A=K 0O000oooooooooooooooo

Ai Hyo | Hie
Nods M| 7 |73
A4 3
A5 A6 7 7
A7 1
As |2
Ao 9
Ao A 7 7
A2 3
Az A 7 7
A5 3
A6 1
A7 2
A1g A1g 7 7
A20 3
Ao1 Moo 7 7
Aa3 2
Aoy 3
Aas Ao | T

000 HgO HoOOOOOOOOOO30ODOO0OOOOO300000000000000OAM =X=061---0O
A3 =1.14---00
H,,O0Oooooooooooooooooo

(A= X16) (A + ard + ag) (AT + bA° + - - + bo) (47)

a1 0 a0 A0 A3 DO0DOOOO0OO00OOby OO b O MOXO A1 O A40 N0 A0 N DO DO OOOODO
goo
Hs 000000000000 O0DO000O0

(A= AT bAoA+ et d + o) (NP 4 dad? + did + do) (AP + ead? + el A + ep) (48)

61[| COD )\QD )\17DDDDDDDDDDCIODD dQD )\3D)\12D)\Q4DDDDDDDDDD€0DD 62[| >\4|:|
MsO X DDODDODOODOODODOO

553 A=M'KOO0OOOOOO

STlKS~'0 M~'KOOOOODODOODODODDOOOO0O0O00000000000000000 S—'KS—!
gooooooooobobobooooonD HeO HyODODODODOODODOOOOOODODOD 11000
oOoooooooooD 00 1020300 A0000O0O0 s 00 20000000000000O0O

000000000000000000000000000000000LCM O 6.76x 10*% 000000
000000003000000000000000000000 —-469x103 00 2.10x103% 000000
0000O0O0O0oo 874 x 1047 0000
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HyOdOooOoOoOooooooooooooo
(A= X15) (A 4+ ard + ag) (AT + b A° + - - + bo) (49)

a1 0 ap0 MO XNy 0000000000b, 00 bg 0 MOX0M00NM3O0MsO0N00 N 00000000
ooosS'Ks'0oooooooo
HeOOOODODODOOOOODOOOOOOO

(AT 406X + -+ bo) (A — Ag) A2+ 1 X + o) (A2 + doA? 4+ di A + do) (N2 + eaA? + e1 A + ep) (50)

01E| Co|:| )\11[| AQgDDDDDDDDDDd()DD d2[| )\3D>\14D)\22DDDDDDDDDD€0DD €2D
OOy 00000000000 ST'KS'O0O000000
000700000 7000000000000000000000O0O0O0OOOS000000000

Refined accuracy of eigval eigvr=8.795420292271488e+30 Width of interval=0

eig=[ 8795420292271488564653283220829.969762110309793004 (468 digits) 190808880683222488:
8795420292271488564653283220829.969762110309793004 (468 digits) 190808880683262954]

eiglow_n=61 eiglow_d=58 eigup_n=61 eigup_d=58

dvsrchl.ecpp OO0 O0O0OO0OO0O0DOOO0OO0DOOOOOODODOOOODOOOOODODODOOODOOOODOD
gobogbuooboobogboobuoobooboboobooboobobboboo 20b000bDO00O00
gooooood

5.5.4 CygwinO0OOODDOOODOOO -030 CT2DO00O0O0 A=S8"'Ks-t00000

0000000000000 0000000000020000000000000000 3790000
000000000000 0000000000000000000 30000000000000000
0000000000000000000000000000000000000000000000000
00000000000000 6400000000000 Linx 0000000000000300000
O (ao,by) = (5.7, —0.22) 000D bisect3 0 20000000000000000000000000
(a1,by) = (—2.96, —0.22) 00D D00000000000 bisect2 0000000000000000000
0000000 (ag,by) = (—2.340375387850572, —2.340375387850571) 00000000000 bisect 00
000000 (qb) O

a= -2.34037538785057119945927902383957475866260145381082
b= -2.34037538785057119945927902383943958258973208643083
|

goboob010bo00bo0oooobooooebboooo3boboooboooboobboobooooooono
gboooboobdboooooboboboooobobooboboobooboboobob 20b0000b00O00
obooo 4o0ooooooon

2000000000000O00000O0

/e [-===]—===] === |-———- | -————- [-————————

// a0 al a2 b2 bl b0

1 £ (x)=0

// setinit 1 2 second root
// setinit 1 2 third root
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o~ U

/

a | b

0 14: [-4,1]0300000000020000000000

000000000 (ay, b)) 000 20000000000000 (ay,az) O (by, b)) 000000 setinit
0102000000 setinit=20000000bisect 1000 (a,b) O

a= -2.34037538785057115846081188823544830251686213817924 :
b= -2.34037538785057068919606547918916441250341339773654]
|

000001000000000000
30000000 (ag, ay) O (by, bp) 00000000 setinit=10000000bisect D000 (a,b) O

a= -3.65411544897164871498196347943121509160846471786499
b= -2.96869132933425497467005982343835057690739631652832

oooobo1ooboboboooooboo
Uddooooooooooooog 2000000000000 Obisect20000OFOUND 26 intervals.
obooooooooogon
OOooooO O 1000o0oogoooo
2000000000000000O00DbO0OOOOObOOO0Og

Refined accuracy of eigval eigvr=-2.340375387850571 Width of interval=6.600394183074579e-35

eig=[ —-2.34037538785057119945927902383953132806887682308034 :
-2.34037538785057119945927902383953126206493499233455]

eiglow_n=6 eiglow_d=6 eigup_n=6 eigup_d=6

00000000000000000000000000000000000000 2220006000006
googbooboobgebboboenbOobbOobbO
b0 1nooboobooooboobobl200b0000on0 200000000000000OO0

Refined accuracy of eigval eigvr=-2.340375387850571 Width of interval=1.366351164922065e-205
eig=[ -2.340375387850571199 (173 digits) 626977603588361562:

-2.340375387850571199 (173 digits) 626977603588347899]
eiglow_n=24 eiglow_d=23 eigup_n=24 eigup_d=24

2300000000 120000000000
1B300000000 2300000000000000120000000000000000000000AO
oooooo

Refined accuracy of eigval eigvr=-2.340375387850571 Width of interval=9.480965768874258e-223
eig=[ -2.340375387850571199 (191 digits) 060678401700349592:

-2.340375387850571199 (191 digits) 060678401700254782]
eiglow_n=25 eiglow_d=25 eigup_n=25 eigup_d=25
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gbooobuooboobobboboobooboobobbo

Refined accuracy of eigval eigvr=-3.457446882946081 Width of interval=9.480965768874258e-223

eig=[ -3.457446882946080503 (191 digits) 951572206194082491:
-3.457446882946080503 (191 digits) 951572206193987682]
eiglow_n=25 eiglow_d=25 eigup_n=25 eigup_d=25

Boooooob2000000000 1300000000O00000000
gooobobooooboobooooobUo 1200000000 18300000000 DOOOOODOO 3000
goboooobooo3guoooobooboooooboo20b0000000 1200 13000000000
oooooo0 »3oooooooooooobooooooooooD HeyOOOOOOOOODOODODOOOOO
oboooboobooooboobooogooo
Hyy OODODDOODOOODOOOOODOOOO

A= 2A) A2+ ant A 4 4 ag) (A" + b1aA + -+ bg) (51)

A 000000000 ([pm0000000000O0O000DODOO0O0DODO0OODODOO0ODOOOODOOODOOO
oboo0 o, 00b0000000b000on

a1 00 qo OO700000000 AMOA1OAs0M 00 000000000 10000 A O Aoy O Hy
O0000ooo200000M M0 M0 HeOOOOOOO200000M:;,00000 A/, 00000000

bio OO e OO7T000O00O0O0O0 HeDO 200 300000000000 0O000DOO0OOODODOOODO
gobooobooooooobooobboboooooboobobooboobooobooobooboDooooooo
gobooooboooboobooobooboobooooobooboooooboooboobooooOooog
0000000000o0oo0o0o0o0o0™o0

5.5.,5 CygwinO0OOOOODOOOOO -030 CT2D 0000 A=K O0O0OOO

0000000000 HgO HoOODOOOOH,,O HgOOOOODOOOOOOOO0OOOOOO (47) 0
000 (48) 00000000

5.5.6 Cygwin0OODODOODODODDODOOO -030 CT2D 0000 A=M"'KOOOOO

0000000000 Hed HyOOOOOOH, O HeOOOODODOODOOOOOOOOOOO (49) 0
000 (0)000no0ooon

5.5.7 ODOO0OO0OOOOOOOOODOOOOO

gbobooobooboobobooooooboboooooooboob coboboboooooobOoboon
gboboooboobooobooooboobooboboboooboooboooboob40b00b0b00b0Ob0ObOOOOnOOn
ooboooobooobooooboobooobobooboobooobooobooooobooobOoobooooOoobooOoooo
gooooboobooogoboboobooogooboo

BOop0000000000000000000000000000

0]



5.56.8 00000

goboooooboo1ogboooboobooooboooboobooboobooboooooooboooobooobo
ooooooooooobooooooooobooooooooooocr2booooooooobooooooo
goboooooboooboobobooooooboobooboooboooobooobobooboboooobooooooog
gooooooooooooobobooboooooooooboooobboooooooooDooooobboDboboog
gboboobooobooooboobobobooboobooooobooobooooobooboOoooobooooon
000000000D0000000000000000000000000000000007%000 KOOd
goooooboooooobooo
s gboooooboooobobooog N

elmhes start n=26

m=2 i=3 (double)x=-9.0072e+15 3

m=3 i=5 (double)x=-9.0072e+15 3

m=4 i=13 (double)x=4.72215e+16 10

m=5 i=7 (double)x=-2.11837e+16 13

m=6 i=12 (double)x=8.85753e+15 30

m=7 i=26 (double)x=-1.06297e+16 53
ood

m=15 i=19 (double)x=-2.89904e+15 340

m=16 i=20 (double)x=4216.64 364

m=17 i=17 (double)x=0 1

m=18 i=25 (double)x=-2.36378e+16 30

m=19 i=23 (double)x=-2.91652e+16 59
ood

m=24 i=26 (double)x=5.33917e+15 117

m=25 i=25 (double)x=1.46586e+16 137

N J
gcoooooboooooooooooopoboooooobobooooboOoboo0y KyODOOOOOOOO
goooooboologoobooooob 8souooooooobo

obooooobooooboobooog
4 N

* elmhes start n=26
m=2 i=3 x=-9.0072e+15 3
m=3 i=5 x=-9.0072e+15 3
m=4 i=13 x=4.72215e+16 10
m=5 i=7 x=-2.11837e+16 13
m=6 i=12 x=8.85753e+15 30
m=7 i=26 x=-1.06297e+16 70 <=== 0000000
m=8 i=8 x=2.02643e+16 120

aad

m=24 i=25 x=-4.50491e+15 55238
m=25 i=26 x=-2.51654e+15 59828

N J
obooboooobooooooobooobooYooooooboobooboooboobooboobooooo
ooooooz20000g0oooooooboboogodiftoooooooooooooooobooogooooD
OO00o0o0o00ooo0oooooo0ooo0ooDoO elmhesOOOOO0DOOOOOO

000000 0000000000000000000000 longint.cpp 0000000000000 00000NOOODODON
goooooooOoOo0o0obooOoO0o00booOoOoO0O0boOoO0oO0OO0O0OOO0O00O0bCOO000O0
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elmhes 000000000 OOODO

for(int j=m; j<=n; ++j) {
rational saved=al[i-1][j-11;
ali-11[j-1] = ali-11[j-1] - y * alm-1]1[j-1];
if(saved !'= a[i-1]1[j-1]) std::cout << "change ali-1]1[j-1]=" << ali-1]1[j-1] << " i=" << i << " j=" <<
<< " am-1]1[j-11=" << a[m-11[j-1] << " m-1=" << m-1 << " saved=" << saved << " y=" << y << std::endl

000 “saved -y * am-1][-1]” 0000000000000 2000000000000000000000
000000000000 yO alm-11(j-11 0 000 seved 000000000 ali-11[3-11 00000
000000000 “aved -y *ajm-1)[j-1]” 0000000000000

-~ elmhes 1000000000000 ~

change al[i-1][j-1]=766654595212970732358095103346411/47221509289895611 i=6 j=6
change al[i-1][j-1]1=766654595212996819993745768917245/47221509289895611 i=6 j=6

a[m-1] [j-1]1=258359429617980736260547150317435671248383889011/40564819207303340847894502572032 m-1=3
a[m-1] [j-1]1=258359429617980736260547150317435671248383889011/40564819207303340847894502572032 m-1=3

saved=15376250927266764/1
saved=15376250927266764/1

y=-40564819207303340847894502572032/300756232722000874105869297291081
y=-40564819207303340847894502572032/300756232722000874105869297291081

N J

00000000000000000&00000000000000 mpyad.cpp 000000000000
oooo

00000 mpyad.cpp O 0OO00OO
- pyad.cpp R

int main(int argc, char** argv) {

longint an("15376250927266764") ;

rational a=RRset(an,longint::0NE);

longint bn("258359429617980736260547150317435671248383889011") ;
longint bd("40564819207303340847894502572032") ;
rational b=RRset(bn,bd);

longint cn("40564819207303340847894502572032") ;
longint cd("300756232722000874105869297291081") ;
rational c=RRset(cn,cd);

rational d=atbx*c;

std::cout << "d=" << d << std::endl;

}

N J

0000000000 OOrational 0000 longint 000000000000 DOOOOOOODO “g++ mpyad.cpp
rational.o longint.o mempool.o” 0000 O0O00O0ODOOOOOODOOOOOODOOOOODOODO
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A 0O0O0O0O

Al 0O00O0OOO0OODOODO

oo 0O0O00oooooOObOO0OooobooobooOOobO0o0ooooDOObOO00OnOO
ooo0oood xy,2,...,2, 000000000000«;2; 000000000000 ¢00000000O
OO0 c=cosf 000 s=sinf 00000000 O00OOOOOOOOOO

H'=R"= - (52)

O0000 ¢0s00000000000000000D0 10000000000000 (4,¢4)000 (5,7) 0
00 ¢0(,§)000 sO(4,4) 000 —s0000

0000 RTAROODOOODOOODOODODADDOOODOOOOOOODOOODOODOOODOOODOOO
A =Appoooooooo AW =RTAR-VR, 000000000000 0000 A® =RTAR, 00O
oog

1 1
RO <>

@i
RTAR, = : : (53)
w W

Ji JJj

oooooboooboooooo«:000 400 0:000 ;000000000000 0O000DO0O0O0O0O0O0O00

O0D00D00RTAR, 00DDODDOOOODDOOOOOOO
(1)—0 ai; + 2csa;j + s*aj;
a) = (&

(1) =c? a;; — 2csa;; + 52 ajj
(1) 1)

(
;. = Clim + SQjm, Ay = Clim — SQAjm

1
— s%)ay; — es(ai; — aj5) = al}) (54)

mO00j000 100 n0000000000000R, 00000 A*Y 0000000000000

DoV 000 z2; 0000006, Y 00000000000000 (54)000
(1) = (¢® = s%)ai; — cs(ay —aj;) =0 (55)
0000000000000000 60
C2—82 Qg5 — Qg4
= cot20 = = 37 56
¢ =co 2cs 2a;; (56)

DDDDDDDtEfDDDDDDD 0000000 20000000000000O
c

t2 420t —1=0 (57)
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oo200000000000000000O0 ZDIZIDDDDDDDDDDDDDDDDDDDDDDDDDDD

sgne
tld+v&+1 %)
00 ¢+0000000 ¢c0 s00000
1
c:m, s =tc
0000000000 #2; 00000 000000 ADOOOODOOOOA® =RFAC-VR,O0000 10
00000000000000000000000000000000000000000000000000

googoobood

Proof. S, 0 A% 000000000 DO0000OOOOOO
So— 51 = Z az, — Z (af}))? = 2a3; (59)

T8, TF£S 8, TF£S
O000R, 0000000000 AW O A®0pOo00o0o0000o000 RFO0000000ood RO

gobooboobobooboboooooooboooboooon 2afjDDDDDDDDDDDDDlDDDDDDD
oooooo sy oooooooooobooooobboooooboooooDobooooDon O

mO00000D000000000000007000000000000000000000O0O0O0O0OOA0
oood

RTRT | ...RFRTRT AR\RyR3-- Ry 1R, = A (60)
H-1 H

0(60)0000 HOOOOO AH=HAOOOOOOO HOOODOOOOOOOOOOOOO0000000O
10000000 (---((IRy)R2)Rs) -+ Rm_1)R,, 0000000000 HOODODOOOOOOOO

A2 O000O0OOOOO

gos00boobgbooobbooboobooboobooboobon

5 4 3 2 1
44 3 2 1
A= 3 3 3 2 1 (61)
2 2 2 2 1
11111

gboboooboooooboooooobooooboobooboobobobooboboobooooobooboooboooon
OOoOoo01020000000000000000000000 04 cyclic Jacobi methodDOOODOOOO

- 1
DDDDDDJ@@DDDD¢:g£—32:—§DDDDDDDDDDDDau:ODDDDDDDDDDD
00 1,200 1,200000

2(112

8.531 0.000 4.234 2.823 1411
0.000 0.469 0.264 0.176 0.088
4234 0.264 3.000 2.000 1.000 (62)
2.823 0.176  2.000 2.000  1.000
1.411 0.088 1.000  1.000  1.000

000000000000 000000000000000000000000000000000000000000000000
goooooooOoOo0oO0ooOoO0oO0O0booOoO0oO0OO0oOoO0OO0O0O0OOO0000O0OO0OO00O0COOO0OO0OO00COO0O00O0GOOOO00OO0BO0
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Ugboool s 000000000 a2 0000 01250000

10.823 0.125 0.000 3.435 1.717
0.125 0.469 0.232 0.176  0.088
0.000 0.232  0.708  0.415  0.208 (63)
3.435 0.176  0.415 2.000 1.000
1.717 0.088 0.208 1.000  1.000

0000000000da,, 00 as 00000000 900000000000000 AW ODOOOOOOO

12.338  0.084 0.187 —0.033 —0.158
0.084  0.307 0.021 -0.037 —0.052
A= 0.187  0.021 1.447 0.046 0.045 (64)
—-0.033 —-0.037 0.046 0.330 0.000
—0.158 —0.052 0.045 0.000 0.578

Ooo0ogoooooon So=1000000008,=013000000000000000 5500 154.847
oooooo

0000000000000000000 S, =0.002260 53 =6.38x 107°05, =1.15x 102 00000
000006000000000320000000000000000000000000000007010
O0O0OOsweepU 0 1000000000 0DO0O0O0ODO0ODOOOODO0OOOODOOOOODODOOODO 60O
gboogs2bdboooooooon

12.344  0.000 0.000 0.000 0.000
0.000 0.272 0.000 0.000 0.000

A~A® = [ 0000 0.000 1.449 0.000 0.000 (65)
0.000  0.000 0.000 0.353 0.000
0.000  0.000 0.000 0.000 0.583

0000D00000D00000000000000000000 A, = 123440 ), = 1.4490 )3 = 0.5830
A =03530X5 =0272 0000

XTAX =A000000inversed 0000 (XTAX)"!=A-'0000000 XTA4-'X 00000000
00000000000000000000000000000000000000000000000000
00ADDDOO0OO0OO0O0O0O0D (65)000000000000000000000A!=XA"Xx70000
0oooo
000000000000000000000 symeig BASOOOOOO BASICOOOOOOO000O0O
OOc++ OO0 Dratutilepp 0000000000000000000000 jacobev 0000 0O

“0p000000000000000000 2000000
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200000000, 40 nxtcmb, 31, 33
200000000000, 49
polydivchk, 35

askinty, 34 polytexform, 35
polytexformint, 35

bisect, 46 polytexformr, 35

bisectrf, 66 putpolynomial, 34

Blue Bene/Q, 7
rational, 23

chkinc, 36, 45 rational [, 6

chkres, 60 roundrat, 67

Clientmain.c, 57

comb, 32 S13Free.dat, 57

Combination.BAS, 31 S13Free.txt, 57

Cray-1, 7 S13freeA2.chk, 60

CT2D, 56 S13freeK2.chk, 60
S13freeMinvK2.chk, 60

derogatory, 10 setecand, 39

dfcand, 48 setecanint, 48

do while, 39 solhmg, 68

dvsrch.cpp, 25 solveSTATIC.c, 56

dvsrchl.cpp, 25 squarefree, 12

dvsrch2.cpp, 25 symeig.BAS, 81
synthetic division, 37

eigv.c, 56

elementary symmetric function, 29 trusgenorm.f, 57

ELMHES, 10

epsint, 33, 45 Vieta’s formula, 29

vietaterm, 33

FACTORIZEONLY, 54 vietatermschk, 52

formatprn, 45

while, 39
GCcbooo, 22 Wilkinson, 10

getpolynomial, 35

gooooog, s
HanoiStackMR.BAS, 51

Horner, 36, 38 oo,6
Horner3, 38 gooog, 29
. oooooog, 19
inty, 21
INTYDOUBLE, 49 oooooao, 24
— oooo, 37
Jacobev, gooooooooboooo, 19
Knuth, 4 oogd,6
lLiNiIr;tSZZ’) A
og., ooooooooo, 9,21
longint 0, 6
Iﬂgdmecgmgﬁ ooooa, 50

) ooood,s, 22
ma‘;ty;)te, 5571 0o, 10
mulvieta, DDDD,24
NewtonSDFig.BAS, 38 0O BASIC, 4

ooog, 22

non-trivial solution, 15
N gooooooo,s3

normalization, 23 99

NormalMode.c, 56 ood,
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ooo, 23
ooo, 9
ooooo, 21, 43
oooo, 48
ooooo, 10

oooo, 9

ooo, 6
ooo, 14

oo, 15
ooooooooo, 14

ooooo,s
ooooo,s

200,09, 46
ooooo, 12
oooooo, 43
oooo, 14
oooooo,s
0oo0O0o00oooO, sl
0ooo0o0o0ooo, 1l
oooooooo, 11
0o 200, 22
002000000, 23
00200000, 23
ooooooooo,9
0o, 9,24

ooo, 8
0Doooooo, 29
ooo, 22

ooo, 6
oooooo, 4
ooooo, 11

goooooo, 31
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